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Section Id : 540626311
Section Number : 1
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Mandatory or Optional : Mandatory
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Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 540626362
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5406267442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

QN, TQ, WT, ZW, ?
Options :
1. ® BX
2.¥ CZ
3. # BY
4. % CY

Question Number : 1 Question Id : 5406267442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, Fora § U Ue g 8| fau U fasedt & O o 9e! fawed gg, S 3 gehH &l 1 &R

QN, TQ, WT, ZW, ?
Options :
1. * BX
2.¥ CZ
3. * BY
4. = CY

Question Number : 2 Question Id : 5406267443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

EQ85, GS133, U189, KW253, ?
Options :

1. ® NX326

2. ¥ MY325

3. % MX326

4. % NY325

Question Number : 2 Question Id : 5406267443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T B, Ford @ U ue g 21 fau T faswed & ¥ 98 el fawed g, St 3igehd o T |

EQ85, GS133,1U189, KW253, ?
Options :

1. * NX326

2. ¥ MY325

3. * MX326



4. % NY325

Question Number : 3 Question Id : 5406267444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

YBZA, BECD, EHFG, HKI1J, ?
Options :

1. ¥ LOMN

2. % JMKL

3. % KNLM

4, % KOLN

Question Number : 3 Question Id : 5406267444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, Fora § 0o Ue g 8| fau 7Y fased & O o 9e! faded gg, S 3 gehH & 1 &R

YBZA, BECD, EHFG, HKIJ, ?
Options :

1. % LOMN

2. % JMKL

3. ¥ KNLM

4. % KOLN

Question Number : 4 Question Id : 5406267445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word pair from the given alternatives.
Options :

1. % Mosquito — Insect

2. % Bread — Food



3. ¥ Tiger — Yellow
4. % Pencil — Stationery

Question Number : 4 Question Id : 5406267445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥ fau e fawedl & 3 faww 2rsg g &1 gl
Options :

1. % TR - Pl

2. % 9 - HIoHA

3. ¢ 9 - Uiell

4. % Uy — o Qi

Question Number : 5 Question Id : 5406267446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. ¥ CFJO

2. % GINS

3. ¥ MPTY

4. ¥ SUWZ

Question Number : 5 Question Id : 5406267446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad wy o fou T fdeed! O 9 fawd srerR/sieRt &1 9Tl
Options :

1. % CFJO

2. % GINS

3. ¥ MPTY



4. ¢ SUWZ

Question Number : 6 Question Id : 5406267447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. # HIKNR

2. % NOQTX

3. ¥ JJLOT

4. ¥ YZBEI

Question Number : 6 Question Id : 5406267447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad uy o fau e fasedt & 4 faww ser/siart o1 gl
Options :

1. % HIKNR

2. ® NOQTX

3. ¥ IJLOT

4. % YZBEI

Question Number : 7 Question Id : 5406267448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Gun : Weapon :: Car : ?
Options :

1. ¥ Vehicle

2. # Fast

3. * Engine



4. % Tyres

Question Number : 7 Question Id : 5406267448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad uy # fau e fasedl # 9 Feiferd 2sal &1 g
W:W::W:?

Options :
1. ¢ dlg-d
2. % Al

3. % SoM

4. % TRR

Question Number : 8 Question Id : 5406267449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

DEARB : DUEJJ :: ROULF : ?
Options :

1. * HOZTY

2. % HOYXX

3. % HOXTX

4. ¥ HOYTX

Question Number : 8 Question Id : 5406267449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad oy o fau e fawed! & O Hafdd s1eri &1 T

DEARB : DUEJJ :: ROULF : ?
Options :



1. ® HOZTY
2. ® HOYXX
3. ¥ HOXTX
4. ¥ HOYTX

Question Number : 9 Question Id : 5406267450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

KNAR : NKDO :: ?

Options :

1. * EARH : HDUE
2. ¥ DILH : GFOE

3. % PTNG : SQRD
4. % LOAC:0JDZ

Question Number : 9 Question Id : 5406267450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy # i 77T fowedl B 9 Hafdd 3feR g &1 gHu|

KNAR : NKDO :: ?

Options :

1. #* EARH : HDUE
2. ¥ DILH : GFOE

3. % PTNG : SQRD
4. ¥ LOAC:0JDZ

Question Number : 10 Question Id : 5406267451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘CAR’ is called as ‘RED’, ‘RED’ is called as ‘BULLET’, ‘BULLET’ is called as “YELLOW’, ‘YELLOW?" is called



as ‘GIRAFFE’, ‘GIRAFFE’ is called as ‘BOTTLE’. Which vehicle have four wheels?
Options :

1. ¥ BULLET

2. ¥ RED

3. ¥ GIRAFFE

4. % BOTTLE

Question Number : 10 Question Id : 5406267451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Ay Pie W &, ‘PR’ &I AT HeT SIIdT 8, AT Bl Tl H8T oIl 8, Tl Bl “Uar Bl Siiar g, W P FoR1%” eI g,
RRTE> B “diqer HeT Srar 2| ford argd & IR ufed ga 82

Options :

1. % T

2.9 dld

3. % fOR1®

4. % §idd

Question Number : 11 Question Id : 5406267452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘APPLE’ is written as ‘JQUUF’. What is the code for ‘TIGER’ in that code language?
Options :

1. ¥ WILYN

2. % WILNY

3. % WIYNL

4. % WLINY

Question Number : 11 Question Id : 5406267452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U ARy ®Ig YW H, “APPLE’ & <JQUUF’ foraT SITaT 81 39 IS HINT & “TIGER® &1 HIS & g2



Options :

1. ¥ WILYN
2. % WILNY
3. % WJYNL
4. % WLINY

Question Number : 12 Question Id : 5406267453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Where shall I park’ is written as ‘np of ct ez’, ‘I made to heaven’ is written as ‘ct dz nq vj’, ‘He has to go’ is written
as ‘ej sfnq ol’. What is the code for ‘I to’ in that code language?

Options :
1. ® ezdz
2. % npvj
3. % ezol

4. ¥ ctng

Question Number : 12 Question Id : 5406267453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% ARy ®le ‘J-I'I'Elef, “Where shall I park’ G| ‘np of ct ez’ fora Sra %, ‘I made to heaven’ 1 ‘ct dz nq vj’ fora Sra %, ‘He has to go’ G| ‘ej
sf nq ol foRAT STTAT § 1 3T HIS HINT H 1 to” T HIS T 82

Options :

1. # ezdz

2. % npvj

3. % ezol

4. ¥ ctnq

Question Number : 13 Question Id : 5406267454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘METRO’ is written as ‘74’, ‘CANAL’ is written as ‘34’. What is the code for ‘DEITY’ in that code language?



Options :
1. ® 70
2.9 66
3. % 63
4. % 65

Question Number : 13 Question Id : 5406267454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS a1y e U H, ‘METRO’ &1 *74° fORGT AT, ‘CANAL BT 34 o1 STl § | 39 HIS W H ‘DEITY’ HT HIS T 57
Options :

1. % 70

2. ¥ 66

3. % 63

4. % 65

Question Number : 14 Question Id : 5406267455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Age of five boys J, K, L, M and N is compared. Age of M is more than L but less than N. Age of no two boys is same. Age of J is less than L. If
age of N is not the maximum, then age of how many boys is more than M?

Options :
1.¥2
2. % 1
3.%3
4. %0

Question Number : 14 Question Id : 5406267455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OId TSH! J, K, L, M TUTN BT 3 Bt T B T g1 M BT ST L 31 § A I N I HH g1 BIs ol & T8l &1 S A 1 51 J
AR LA BT TR N BT 1Y MIbaH T 2, A e TSP B g M i 2



Options :
1.¥2
2. % 1
3.%3
4. %0

Question Number : 15 Question Id : 5406267456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons A, F, K, P, R and T are sitting around a circular table facing towards the centre. K is sitting second to the left of T. A is sitting to the
immediate left of K. F and R are immediate neighbours. If F is to the right of R, then which of the following pair represents the immediate
neighbours?

Options :
1. ¥ PR
2. % TF
3. % AP
4. ¥ FA

Question Number : 15 Question Id : 5406267456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BEAGT A, F, K, P, RTUT T H% BI 3R g b T JaIBR Aol b 36 - ME IS GURI K, TP I IR R T IR IBT AR A, K P
R I SR SBT3 ]| F IUT R Fihedd USRi §1 af¢ F, R & gl 3R &, FufaRed & 9 & a1 g Mavcan usiiRal &I a=iidl g2
Options :

|. ® PR

2. % TF

3. % AP

4. ¥ FA

Question Number : 16 Question Id : 5406267457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Six books A, B, C, D, E and F are kept one above the other (not necessarily in the same order). Only two books are between F and C. Only C and
E are between D and A. Only two books are below A. Minimum one book is kept below F.

Which of the following statement(s) is/are not correct?
I. Only two books are between B and E
I1. Only one book is between C and D

Options :

1. % Only I

2.9 Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 16 Question Id : 5406267457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fbdmel A, B, C, D, E TUTF &1 T & SR Ueh IWT T § (S8] el b1 3UT HH A BN | F dUTC & A had ol fbdd &I DAUTA P
A T Had CAUE S| A & 1D Had o foda g | F & - $H A HH U fhare Wb Wi g1

fafafad & 9 o9 9/ oy 98 T8 8782
I. B OUTE & A Pad ¢l fbaa g

II. C TUT D & He Had U fhdia g
Options :

1. % Had |
2. ¢ HAA I
3. % [ UGl
4. % qGIIATR I

Question Number : 17 Question Id : 5406267458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Six boys B1, B2, B3, B4, B5 and B6 likes one shirt among S1, S2, S3, S4, S5 and S6. They also like one colour among C1, C2, C3, C4, C5 and
C6. No two boys like same shirt and same colour. B1 likes S6 but don’t like C6 and C5. B4 likes S1 and C2. B5 and B6 neither likes C5 nor C6.

One who likes S3 also likes C6. B6 likes S4. BS neither likes C1 nor C3. B5 don’t likes S5. If B2 doesn’t like even numbered colour, then which
of the following combination(s) of boy — colour — shirt can be correct?



I.B1 -C3-S6
II. B2 -C6 - S5
1. B3 -C5-S5

Options :

1. % Only I

2. % I, Il and III
3. % Il and III
4. % Jand III

Question Number : 17 Question Id : 5406267458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT TSHI B1, B2, B3, B4, B5 TUTB6 DI S1, S2, S3, $4, S5 YT S6 H T U HHIS WG g1 I C1, C2, C3, C4, C5 TUT C6 | T Tp 17

W%Iﬁglﬁﬁmﬁwmﬂmwwmﬂ%ﬂ%lBlﬁS6W%@ﬁﬂC6HﬁHC5WT§‘T%IB4ﬁSlH%HC2qﬂ_c{%
BS TUT B6 BT TR C5 TS C6 UE B1 98 AR $3 TNiE & STB! 6t TUE B 1 B6 HY S4 TS &1 BS BT ATEY €1 T8 €3 T &1 BS &Y

%Sqﬂ'ﬁq%pf%lqﬁmﬁw&{%dlcﬂQ'Truﬁdﬁ%,ﬁm—ﬁ—mﬁmﬁﬁdﬁﬂ‘v'IT/ﬁ{-itl\leWE?IWW%/
X

[.BI -C3-S6
II. B2 -C6 - S5
II1. B3 -C5-S5

Options :

1. ¥ Bad [

2. % [ ITdYTIII
3. % AT I
4, % 1dYT I

Question Number : 18 Question Id : 5406267459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A + B’ means ‘B is the brother of A’, ‘A + B’ means ‘B is the wife of A’, ‘A x B’ means ‘B is the son of A’, ‘A — B’ means ‘B is the father of
A’, then which of the following is/are correct about L+ R +P—-Q x T + G?



I. G is the sister in law of P.

II. R is the sister of T.

1. Q is the father in law of G.
IV. L is the wife of R.

Options :

1. #® Tand III

2. % II, 1T and IV
3.9 I, Il and 11T

4, % I 11, IIT and IV

Question Number : 18 Question Id : 5406267459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g A+ B HT3 B, ABIUS S, ‘A~ B BT3B, ADIUA ", ‘A x B BT 31 B, ABT TR, ‘A B’ HT1 31 ‘B, ABI AT 9, @t
R AP WAL +R+P-Qx T+G P IR H TG 2/8?

.G, Pty B
IR, T S8l

1L Q, G BT IR g
IV.L, R & Udl g

Options :

1. % ['dUTII

2. % L I dUT IV
3.9 1 I AT 1T

4, % LILITdYT IV

Question Number : 19 Question Id : 5406267460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:



I. All bottle are pen.
II. All car are bottle.

Conclusions:
I. All pen are car.
II. Some car are pen.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 5406267460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 3 HUHI IR YN & 56y 3T T4 § | 3T T H2 &1 981 9, 918 S8 W 1 9
3 frzrar 81t e o ofik fisR fReifa &% 6 fou o o @ s, fou U syl & smyR &R gfaaa g

hY-:
1. 94 Siad paH |
1. I SR Add 5 |

fep:

1. 9 FaH PR E|

L. $3 PR BAT G|

Options :

1. # $Had [T5HY [ 3IERU Hdl §

2. ¥ Had fHY 11 SR HT &

3. % G fSpY [ T 11 SFJAR0T 6’ §
4. % 1% Wt Frepf SrgeRw el R @

Question Number : 20 Question Id : 5406267461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some F are T.
II. NoJisF.

Conclusions:
I. Some T are F.
II. Some F are not T.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusion I and II follows

4. ® Neither conclusion follows

Question Number : 20 Question Id : 5406267461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fou T Uy T @ U 3R 9P 918 I Bl IR MR & Fews fu MU g1 3T T Hy=i &1 9t 4M, =g 394 I J1d a2t
3 frzrar g1t e o ofk fisR fReifa &% i fou o o @ fse, fou e sy & smyR &R gfaaa g

DHY-: %
LPOFE TR
IS ), FIg 21

fean:

L$ST,Fgl

IL. $SF, T el ol

Options :

1. ¢ Pacl Feepy | 3TERU BRaT 2

2. % Had (SHY 11 SR Hl §

3. % GHI FSHY 1 TT 11 SRR H-d §
4. % pYS 1 e SFRERU T AT 2



Mental Ability2

Group Number : 2

Group Id : 540626233
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General intelligence and reasoning Ability2

Section Id : 540626312
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626363
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5406267462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements

to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.



Statements:
I. Al M are L.
II. Some J are M.

Conclusions:

I. Some L are J.

II. All M are J.

III. Some L are not J.

Options :

1. ® Both conclusion II and III follows
2. ® All conclusions follows

3. #® Both conclusion I and III follows

4. % Only conclusion I follows

Question Number : 21 Question Id : 5406267462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fU T Uy ¥ 58 U 3R 39D 918 3 Bl R SMUTRT & (5h U T | 3T T Hu=1 &I 9! AM, 91e 374 AE=a 1 a2t
Y oz g1t feeed U oik fsR feifa & 6 fou o o @ fse, fou U wyi & SR &R gfaasa g

HY:
LM, LEI
IL.HS I, MBI

fsep:

LPSL,IEI

1Lt M, T 8

L. $S L, ] Tel g

Options :

1. % Q! 5B Y 11 T 111 SRR R &
2. % uft Frme SR v §

3. % G fSHe 1T 111 SRR Hd &
4.« Had FT5HY [ 3FIERU Hal §




Question Number : 22 Question Id : 5406267463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. No X is R.

II. No A is X.

III. Some V are R.

Conclusions:

I. Some X are not R.
II. Some V are not X.
ITI. Some A are not X.

Options :

1. # Both conclusion I and II follows
2. % Only conclusion III follows

3. % Both conclusion I and III follows

4. % All conclusions follows

Question Number : 22 Question Id : 5406267463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy ¥ 58 U 3R 3D 918 31 Bl R SMUTRT & (b U MU | 3T T FHy=1 &I 91 AM, 91e 379 ATE 1 a2t
I a8 I e U SR iR Freifea &% o 3T e o @ feed, 3T T w2 & 3R R gfaaed g

DHY-:

. ®is H X, R T8I
1. s i A, X TS ]I
1. $& V,R |

fep:
L. $S X, RTEI 8l



ILFSV, X Tel 8l

1L S A, X T8l g

Options :

1. % QI FT5RY [ T 11 3FIERUI $H1d §
2. % Had 5HY 111 3IERU HT §

3. % G (FShY [ T 11 SRR B §
4.« 1} FIsh S SFRRUT Rl §

Question Number : 23 Question Id : 5406267464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All rat are bat.

II. All car are lion.
III. Some rat are car.

Conclusions:

I. Some lion are rat.
II. All bat are car.

I1I. Some bat are lion.

Options :

1. #® Both conclusion II and III follows
2. % Only conclusion II follows

3. % Both conclusion I and III follows

4. ¥ All conclusion follows

Question Number : 23 Question Id : 5406267464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R I 918 37 HUAI IR YN $& 56y 3T T4 § 1 3T T 2 &1 91 A, 918 S8 QEr 1 9
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LRI Bl
IL gt PRI B
1. $B g PR G|

frep:

L TSR IR

1. 9t T IR G|

1L $ T ;R

Options :

1. % G FShY 11 TUT 111 3FI¥RU Hd §
2. % Had BN 11 IR0 Hal §

3. ¢ G (ISR Y [ T T S8R0 B §
4. % 1} Fsp Y SFIRRUI R §

Question Number : 24 Question Id : 5406267465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

89, 93, 97, 102, 105, 109
Options :

1. ¥ 102

2. % 93

3. % 89

4. % 105

Question Number : 24 Question Id : 5406267465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hd fear T 8, ford § U ug Tad ¢ | 3T T fawed! & 9 39 7Tad ug &I gfu|



89, 93,97, 102, 105, 109
Options :

1. ¥ 102

2. % 03

3. % 89

4. % 105

Question Number : 25 Question Id : 5406267466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

2,7,27,107,7?
Options :
1. % 425
2. % 429
3. % 423
4. 427

Question Number : 25 Question Id : 5406267466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve & < 1S g & ¥ g 8fd 1d S|

2,7,27,107,7?
Options :
1. % 425
2. % 429
3. % 423
4.9 427

Question Number : 26 Question Id : 5406267467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

7,3.5,3.5,4.5, 28, 224, 3584
Options :

1.9 45

2. % 35

3. % 28

4. % 224

Question Number : 26 Question Id : 5406267467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3fIepd fear T 8, fo s 4t g 7o ¢ | fou 7T fawen o ¥ 39 7Tad ug &1 gi-u|

7,3.5,3.5,4.5, 28, 224, 3584
Options :

1.¥ 45

2. % 35

3. % 28

4. % 224

Question Number : 27 Question Id : 5406267468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If18% 34 @2=86and 31 @2 % 17=79,then 16 % 23 @ 4 ="?
Options :

1.4 108

2. % 124

3. % 82

4. % 136



Question Number : 27 Question Id : 5406267468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

E 18 %34 @2=86TU31 @2% 17=798, AW 16%23 @4="
Options :

1.+ 108

2. % 124

3. % 82

4. % 136

Question Number : 28 Question Id : 5406267469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Male, Female, Brother
Options :

@
(0)o
@

2.¥
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Question Number : 28 Question Id : 5406267469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 3RW AT S - ST T8 ol & o9 & ddY &1 et fAequr Har g
q&, Afgel, 4TS

Options :

@
©)o
@
9

2.¢




Question Number : 29 Question Id : 5406267470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many tyres are round only?

'I' 5
 Tyres

Tad
m

Pén \\

Round

Options :
1. %3
2.9 2
3.%5
4. %9

Question Number : 29 Question Id : 5406267470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TR had M 82
/,ETER
» /5
4] 6 (Ii]' 0
/ N

Options :



1. %3
2.¥2
3.%5
4. %9

Question Number : 30 Question Id : 5406267471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many rubbers are pencils?

_ Pencil Rubber
%3
4 3
TV

Sharpner
Options :

1. ® 15
2.%9
3. % 16
4. ¥ 3

Question Number : 30 Question Id : 5406267471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ELRIRECRINNES,



153 M - £

\ i ] L

Options :
1. # 15
2.%9
3. % 16
4.¥38

Question Number : 31 Question Id : 5406267472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?

Sour
_Toffees
B
3 \ 4 17
2| 3 S~

5 [~

\

Sweet

I. Number of sweet toffees are 9.
II. Number of toffees which are sweet and sour both are 7.

Options :
1. ¥ Only I
2. % Only II



3. ® BothIand II
4. % Neither [ nor 11

Question Number : 31 Question Id : 5406267472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f 7T 37 3R & YR W, Fafifad § @ &9 91 Hu- 98l /82

[ %)

1. i3t it 1 T 9 |

1. 98 Ithal ol Hidt qu1 Wt < §, &t I 7 B
Options :

1. ¥ Had |

2. % Had Il

3. % [T I gHl

4. % 1B

Question Number : 32 Question Id : 5406267473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?



o Birds

Parrot
o~ °
41 16 B 3
| Nl A
Sparrow

I. Number of sparrow which are parrot are 24.
II. Total number of birds are 25.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. % Neither I nor II

Question Number : 32 Question Id : 5406267473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a0 T 39 3INW & 3R R, Fufeiad 7 J &9 91a oy= I8l 8/82

4 16 8 5
[ ]
ﬁ ﬁ‘ e
1. 98 RafSur S arar €, 3t I 24

1. IR & Hd T 25 € |



Options :

1. % Had 1
2. % HAd Il
3. [ QYT ISl
4. % GBI

Question Number : 33 Question Id : 5406267474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

/\

A
ZJK
@

Options :

2
O
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Question Number : 33 Question Id : 5406267474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I IR P UY HA P U= DI IR B2

/\

2
@ Pt

Options :

<




2. ¥
3. ®
4% <:

Question Number : 34 Question Id : 5406267475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the wrong figure from the given series.

Options :

@




3. ¢

Question Number : 34 Question Id : 5406267475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad uy 9, < Tt e & I 7Ted i &1 gl

Options :

@




Question Number : 35 Question Id : 5406267476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :

AR A

0el

OAD

0ea

Question Number : 35 Question Id : 5406267476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafaRRad vy @, fau e fawedl O 9 fawd siefa ! gy

Options :

ARA




0el

OADQ

0eaA

Question Number : 36 Question Id : 5406267477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.

Options :
T

O
I L=
o O

O
2. % QO
O O

O
A A

O
4w ED




Question Number : 36 Question Id : 5406267477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed oy & fou T fae et & & fawm snefa & gl
Options :

.0
o
I L=

Question Number : 37 Question Id : 5406267478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

/X“

Options :




Question Number : 37 Question Id : 5406267478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 T2 IR AIHIaal H T I IR 1A &1 g o & uy siepfa fAfga 31

/g‘

Options :




Question Number : 38 Question Id : 5406267479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

Options :
& 0
O
o ¢
1. %
o
o<o
o
2.9



o)
ooo
@]
3. %
O
cQoo
0
4. %

Question Number : 38 Question Id : 5406267479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & vy Sl § faTT SIUR SIS & HISHR ©e- aul Wi & 91 98 [y IR S o faars am?

T b AR EEEEEEE

Options :

2. ¢




Question Number : 39 Question Id : 5406267480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?




Question Number : 39 Question Id : 5406267480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T U DI AB AT TR 3TN 1Y, 1 <1 7718 IR SMpfaal 7 F i At 3epfa vy 3nmepfa o1 It ufafds grfte




Question Number : 40 Question Id : 5406267481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1. % 14
2. % 18
3.% 17
4. 19

Question Number : 40 Question Id : 5406267481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1S 3T | fbaa By 8

Options :
1. % 14



2. % 18

3.% 17
4. 19
General Awarenessl1
Group Number : 3
Group Id : 540626234
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awarenessl1
Section Id : 540626313
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626364
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5406267482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Kite festival is associated with which state?
Options :

1. ¥ Gujarat

2. % Punjab

3. # Bihar

4. % Kerala

Question Number : 41 Question Id : 5406267482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 34 e Xod 3§ Wi 82
Options :

1. % T[SRId

2. % UOllg

3. % fogR

4. % DH

Question Number : 42 Question Id : 5406267483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shafat Ahmed Khan is associated with which musical instrument?
Options :

1. ¥ Dholak

2. # Sitar

3. ¥ Tabla

4. % Ektara

Question Number : 42 Question Id : 5406267483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QBT 3EHE WM 6 I T A IS 387




Options :
1. % gl
2. % AR
3. ¢ ddcll
4, ® UhdRT

Question Number : 43 Question Id : 5406267484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of musician - instrument is correct?

I. Ustad Bismillah Khan — Shehnai
II. Ustad Alla Rakha Khan — Santoor

Options :

1. % Only I

2. % Only II

3. % Both Iand I
4. % Neither I nor II

Question Number : 43 Question Id : 5406267484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TiideR - 47 o1 Fafiied & 3 &F 91 g\ I8t 32
1. IS faf@reae @ - w61

1. IETG el IoRdT W — IR
Options :

1. ¥ Had I
2. % Had Il
3. % [ 3R 11 G
4. % FATIFB



Question Number : 44 Question Id : 5406267485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of state-dance is NOT correct?

I. Mizoram — Khuallam
II. Telangana — Wangala
III. Uttar Pardesh — Charkula

Options :

1. % Tand II
2. % Tand III
3. % Il and IIT
4. Only II

Question Number : 44 Question Id : 5406267485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed & @ 1 1 I59-74 &1 g T8l 781 82
1. iRy — gairem

1. ST — gl

TI1. IR RCRT - IRPal
Options :

1. % 1dUTII

2. % 1 YT

3. % I ddTIII

4.« Had I

Question Number : 45 Question Id : 5406267486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
records the transactions in goods, services and assets between residents of a country with the rest of the world for a specified period.



I. Balance of Payment
II. Balance of Trade

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 45 Question Id : 5406267486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 & TRt 3ik 2w fay & e axgail, Yarait 3R uRufal Bt oF-23F &1 fdarur o drar 8|

1. ST S
1. Gferd MR
Options :

1. Had 1

2. % HAd I

3. % [ UGl
4. % qIAIATA

Question Number : 46 Question Id : 5406267487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of GDP at the current prevailing prices is
Options :

1. ¥ Nomnial GDP

2. # Real GDP

3. % GDP Deflator

4. ¥ GDP Inflator

Question Number : 46 Question Id : 5406267487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FAHHIRN SR HTHE 3l
Options :

1. ¢ e St S

2. % gRAd® of. el .

3. % S S1LYl. Sapifdd

4. % St 31 4. wpifdd

Question Number : 47 Question Id : 5406267488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When tax collection exceeds the required expenditure, the budget is said to be in
Options :

1. # deficit

2. % surplus

3. % balance

4. % either deficit or balance

Question Number : 47 Question Id : 5406267488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

od B I T =f 3aRad AT Y UG gl g, ANdoic HpgIondrgl
Options :

1. % YIcT

2. ¢ IRy

3. % QY

4. % 97 3YaT AN

Question Number : 48 Question Id : 5406267489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT the instruments of monetary policy of India?

I. Corridor
II. Statutory Liquidity Ratio

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 48 Question Id : 5406267489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad § 4 o YRd &1 Afge Hifd o1 e 78 82

1. TerRT

11. Tfafeieh gy srura
Options :

1. % FHadl

2. % Had Il

3. % [ UGl

4. FA@IATA

Question Number : 49 Question Id : 5406267490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is true about the government budget?

I. It gives a statement of the estimated receipts and expenditures of the government.
II. It is divided into the revenue budget and capital budget.

Options :
1. % Only I



2. % Only II
3.4 Both [ and II
4. % Neither I nor II

Question Number : 49 Question Id : 5406267490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfiRad 7 9 & 915U BRI soic & Ty 7 ug g2

. I8 TRBR B ATATT Wit 3R = 1 faarur ar g
I1. Y oG Foic 3R YT aore # fauTiord fasan sman g1
Options :

1. % Had 1

2. % Had I

3. QYT ISl

4. % FATIATAI

Question Number : 50 Question Id : 5406267491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sun is visible to us about minutes before the actual sunrise.
Options :

1. % 1

2.% 3

3.2

4, % 4

Question Number : 50 Question Id : 5406267491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T g g Qafed I T e ugd fewms ¢H @ B |

Options :



1. # 1
2.%3
3.¥2
4, % 4

Question Number : 51 Question Id : 5406267492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Acids turns blue litmus red.
II. Bases turns red litmus blue.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ® Neither I nor II

Question Number : 51 Question Id : 5406267492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad # 3 &1 /8 Y 98l 8/8?

1. 3T A fercng S Ad dR edT 2
11. &R ATd foreng ) T R a1 g

Options :

1. % Had 1

2. % Had Il

3. ¢ 1 UGl
4. % I IATBIII

Question Number : 52 Question Id : 5406267493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true about eukaryotic cell?

I. Nuclear region is well defined.
II. Nuclear region is surrounded by nuclear membrane.
II1. It has a single chromosome.

Options :

1.¥ Tand II

2. % Il and III
3. % TandIII

4. % T 1 and III

Question Number : 52 Question Id : 5406267493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gH A D11 o T 7 Fafefed § 9 &1 w1 98t 82

1. $EDHIg &7 JWF BT 8

II. $EHIT &F IRY 3R J Hap 1y el R |ar 3|
111, 399 U AR BT g |

Options :

1. 13T

2. % [ QUTIII

3. % [qUTIII

4, % LI dYTIII

Question Number : 53 Question Id : 5406267494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Sliding friction is smaller than static friction.
I1. Rolling friction is smaller than sliding friction.



Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 53 Question Id : 5406267494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefead & ¥ o9 91 By 981 82

1. guf gur Wfge afor § HA g gl
I1. Ae-ie gvur guf avu 9 HH giar 8|

Options :

1. % Had |

2. % Had I

3. ¢ 1 qUT I
4. % qEIIATRI I

Question Number : 54 Question Id : 5406267495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a domain of environment?

I. Hydroshpere
II. Lithosphere

Options :

1. % Only I

2. % Only I

3. % Both I and I
4. ¥ Neither I nor II



Question Number : 54 Question Id : 5406267495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafifad & @ &1 91 uaiavul &1 Us &5 22

I. SfHed
II. ™dHSd

Options :

1. % PHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % I IAE I

Question Number : 55 Question Id : 5406267496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the first state of India which has made rooftop rainwater harvesting structure compulsory to all the houses across state.
Options :
1. % Tamil Nadu
2. ¥ Meghalaya
3. # Kerala
4. # Uttarakhand

Question Number : 55 Question Id : 5406267496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd BT I8 U I & o I AT H 8 TR | JuioTet T8I &1l bl ST Taxdes R a3l
Options :
1. ¢ diHerg
2. % YUY
3. % Bd
4. % IJWIGS



Question Number : 56 Question Id : 5406267497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the highest Plateau in the world?
Options :

1. ¥ Tibet Plateau

2. # Deccan Plateau

3. % East African Plateau

4. % Western Australia Plateau

Question Number : 56 Question Id : 5406267497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed § T o T Y 1989 ST ISR 82
Options :

1. ¢ fssid TSR

2. ®# qdhdUSR

3. % Udf 3ifhap! U8R

4. % UigTh Sfiecfer usR

Question Number : 57 Question Id : 5406267498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Odisha is located on the seacoast of India.

Options :

1. # Northern
2. # Southern
3. ¥ Eastern

4. ¥ Western

Question Number : 57 Question Id : 5406267498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ISR YRT & g I R RA |
Options :

1. % 3T

2. % &t

3. ¢ @l

4. % gy

Question Number : 58 Question Id : 5406267499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement regarding Tropical Deciduous Forest is correct?

I. These forests are called monsoon forests.
II. Sal, Peepal and Neem are important trees of these forest.

Options :

1. # OnlyI

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 58 Question Id : 5406267499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I s gufurdt a7 & ey & Fufafad 3 3 o ar sy 98t 22

1. 3 1 &1 AT - Ht Fgd g

I11. 39 911 & Agayqul g I1a, iud SR 9 |
Options :

1. % Had ]

2. % HAd I




R AGUIIEAGI
4. % BB I

Question Number : 59 Question Id : 5406267500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Rigveda was composed about years ago.
Options :

1. ¥ 3500

2. % 4000

3. % 2000

4. % 2800

Question Number : 59 Question Id : 5406267500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FIAG DI T TRIHT 9 74 g3
Options :
1. ¥ 3500
2. % 4000
3. % 2000
4. % 2800

Question Number : 60 Question Id : 5406267501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which city/cities fire altars were found?

I. Kalibangan
II. Lothal

Options :
1. % Only I



2. % Only II
3.4 Both [ and II
4. % Neither I nor II

Question Number : 60 Question Id : 5406267501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fobd TRARI F 3fipus fia 2

1. BT
1. YA
Options :

1. % Had 1
2. % Had I
3. QYT ISl
4. % G IATBIII

General Awareness2

Group Number : 4

Group Id : 540626235
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2
Section Id : 540626314



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626365
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5406267502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Dynasty ruled Delhi during 1451-1526?
Options :

1. * Rajput Dynasty

2. ¥ Lodi Dynasty

3. ¥ Sayyid Dynasty

4. % Tughluq Dynasty

Question Number : 61 Question Id : 5406267502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1451-1526 & &3 feeet OR forg =1 = Ty fapam mo

Options :

1. % SYd 9=
2. ¢ It a9

3. % qQ 99
4. % qUAD I

Question Number : 62 Question Id : 5406267503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
was the Governor General of India during 1848 to 1856.
Options :
1. % Lord Rippon
2. % Warren Hastings
3. % Lord Dalhousie
4. # Lord Curzon

Question Number : 62 Question Id : 5406267503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1848 V1856 B GRM YR &P Td-R SR |
Options :

1. % drs Ru+

2. % gRAGRE

3. v IS Sagron

4. % QIS Ho

Question Number : 63 Question Id : 5406267504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, ‘Poona Pact’ was introduced?
Options :

1. % 1930

2. % 1922

3. % 1938

4,9 1932

Question Number : 63 Question Id : 5406267504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



forg af & g1 Uge @ T U
Options :
1. % 1930
2. % 1922
3. % 1938
4.+ 1932

Question Number : 64 Question Id : 5406267505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first woman to climb Mount Everest?
Options :

1. # Anshu Jamsenpa

2. # Savitskaya

3. % Junko Tabei

4. ¥ Bachendri Pal

Question Number : 64 Question Id : 5406267505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TRE TR ¥g areh gl afeen & oy
Options :

1. % SR ST

2. % HAIBHT

3. ¥ bl qdl

4. % g4l U

Question Number : 65 Question Id : 5406267506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘World Economic Outlook 2020’ report was published by which organisation?



Options :

1. # World Bank

2. % World Economic Forum

3. ¢ International Monetary Fund

4. # Asian Development Bank

Question Number : 65 Question Id : 5406267506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty e smeede® 2020 NUIE {5y Ti1a gRT USRI &1 78 e
Options :

1. % 963 ddb

2. % qCs 3HAIHD BRA

3. ¢ SCTHRMA HIFCR] BUS

4. % URIH STAUHc dF

Question Number : 66 Question Id : 5406267507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT the winner of Nobel prize in Economics 2020?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. Louise Gliick

2. Roger Penrose

3. World food programme
4. Peter Handke

Question Number : 66 Question Id : 5406267507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeigd & 9 & Sifed 2020 H A9 RIGR BT ol 781 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. =9 fas

2. AR TR

3. 9% B8 UTRM

4. iR g8

Question Number : 67 Question Id : 5406267508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of the book ‘City of Girls’?
Options :

1. ¥ Elizabeth Gilbert

2. % Khushwant Singh

3. % Margaret Atwood

4. % RPN Singh

Question Number : 67 Question Id : 5406267508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rt 3T TR TP & AG®d B g2
Options :

1. ¢ Uferoney fead

2. % Qrdd Rig

3. % OFRc Uegs

4. % IRATRYE




Question Number : 68 Question Id : 5406267509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

First RORO rail service of south western railways has been started from which state of India?
Options :

1. # Tamil Nadu

2. ¢ Karnataka

3. # Kerala

4. *® Goa

Question Number : 68 Question Id : 5406267509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& faror uffdt Yerd @t ugelt RORO Y VAT HRA & fordl I8 A = B1 78 82
Options :

1. % qfieTg

2. ¥ FHlcH

3. % B

4. % Tl

Question Number : 69 Question Id : 5406267510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been honoured with Dadasaheb Phalke Award 2020?
Options :

1. ¥ Rishi Kapoor

2. # Shahrukh Khan

3. ¥ Akshay Kumar

4. ¥ Dhanush K. Raja

Question Number : 69 Question Id : 5406267510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fohr qTT WTed Wied RIBR 2020 J FHT fovat 71 g2
Options :

1. % B DR

2. # Ygo9 9+

3. % 36T HUR

4. YN b, TSl

Question Number : 70 Question Id : 5406267511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the 2020 Booker Prize?
Options :

1. ¥ Douglas Stuart

2. # Tsitsi Dangarembga

3. % Avni Doshi

4. # Brandon Taylor

Question Number : 70 Question Id : 5406267511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2020 §ahR GRIDHR g Sitar

Options :

1. ¥ SO 3T

2. % R STRam

3. % g ars

4. % SETTR

Question Number : 71 Question Id : 5406267512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What does the below traffic sign mean?

Options :

1. # Warning for a tunnel

2. # Entry prohibited

3. # Crossroad ahead

4. ¥ Vehicles higher in height than indicated prohibited

Question Number : 71 Question Id : 5406267512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e mar e A o sarar g2



Options :

1. % GO () B a1

2. % 79 ufasfed

3. % M ARG 8

4. ¢ Fohfad Sams T 3ifde Farsara el & ufasfdd fear g

Question Number : 72 Question Id : 5406267513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?



Options :

1. # Pedestrians prohibited

2. % Railway workshop ahead

3. % Warning for a railroad crossing without barriers

4. ¥ Warning for a tram

Question Number : 72 Question Id : 5406267513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T fear man ¢ftees A= o ST 82



Options :

1. % Oed goq ara ufasfed
2. % I IAd BRI ©
3.« YT ST IS HIRIT Bt IdTa-T

4. % U <MY P dra-i]

Question Number : 73 Question Id : 5406267514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?



10 m

— =

Options :

1. ¥ Mandatory Left turn

2. ® Turning left prohibited

3. # Trucks parking prohibited

4. ¥ Vehicles longer than indicated prohibited

Question Number : 73 Question Id : 5406267514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fea man ¢ftees A= o ST 82



10 m

— =

Options :

1. % 918 3R ifard Ars

2. % g g ufasfid &

3. % TH B} UlfepT] Ufaaiad 8

4.« Tohfad daTs T 3P darsard arg ufasfid &

Question Number : 74 Question Id : 5406267515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?



Options :

1. ¥ Parking allowed for vehicles heavier than indicated
2. # Trucks parking prohibited

3. # Vehicles longer than indicated prohibited

4. ¥ Vehicles heavier than indicated prohibited

Question Number : 74 Question Id : 5406267515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e ma Sfpes e o adTaT 82



Options :

1. % Tpfad ao I 3% gomara arg-l & Ui &t 3Afd §
2. % THI B UTichT Uiaafdd

3. % Jpfad dars O Y% darsard arg Ufasied §

4. ¢ Gphfad aoH T 3HfYH gorard arg ufasfd §

Question Number : 75 Question Id : 5406267516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?



Options :

1. ¥ Parking allowed

2. % Stop and give way to all drivers
3. % Dead end street

4. % Warning for roadworks

Question Number : 75 Question Id : 5406267516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fear man e A== o sarar 82



Options :

1. % UG &t orgAfa 8

2. ¢ T IR T IR oI AT S
3. % TS KIC

4. % SPH BT B! I

Question Number : 76 Question Id : 5406267517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Re-circulating ball type gear is used in:
Options :

1. # Two-wheelers

2. ® Three-wheelers

3. # Light motor vehicles

4. ¥ Heavy motor vehicles

Question Number : 76 Question Id : 5406267517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J-adafeT did ey iR &1 SuaiT 394 ¥ forad forar ST 82



Options :

1. % gufedr are-
2. % faufgar argq
3. % gooh Hiex dTgH
4. ¥ YR Hiex dred

Question Number : 77 Question Id : 5406267518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A road sign with a red circle:

Options :

1. # instructs what should be done

2. ¥ instructs what should not be done
3. % represents a cautionary sign

4. ® displays information

Question Number : 77 Question Id : 5406267518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT O & 1Y g8 H Bl g
Options :

1. # f9d=r <ar g fos 7 fopan s =nfee

2. ¢ fAd=r <ar g fos o & fopan S =nfee
3. % GOy Gao Ybd axidi g

4. % I veRid exar g

Question Number : 78 Question Id : 5406267519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
traffic signs display road services and evacuation route information.
Options :



1. # Green
2. % Brown
3. ¥ Blue

4. % Black

Question Number : 78 Question Id : 5406267519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ 2fthe dobd G Tarsf SR e Ant &t gEA ueiid HRd |
Options :

1% g

2. % 1R

3. ¢ Hid

4. % BT

Question Number : 79 Question Id : 5406267520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
converts the rotary movement of the steering wheel into angular turning of the front wheels.
Options :
1. ¥ Steering gear box
2. % Steering arm
3. % Track arms

4. % Track rod or Tie rod

Question Number : 79 Question Id : 5406267520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wl &ia &1 9o 7fa & 3 & ufgat & wivfia Ms A seadr g

Options :

1. ¢ TR IR iag



Question Number : 80 Question Id : 5406267521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The condenser of an auto air conditioner that looks like a fin and tube radiator is usually placed of the car.
Options :

1. ¥ in front

2. % at the rear

3. % near the driver seat

4. % near the rear seat

Question Number : 80 Question Id : 5406267521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Tt TR He iR B b 3R T SR B dRE G/ aTdl e R JHIT HR & fRA g8l

Options :
1. ¢ G
2. % Ui
3. % R I Hid & U
4. % Ul dic & U™
Arithmetic Abilityl
Group Number : 5
Group Id : 540626236
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetical and Numerical ability1

Section Id : 540626315
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626366
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5406267522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two containers contain 840 litres of liquid P and 960 litres of liquid Q respectively. They are filled into smaller bottles. Each bottle has equal
capacity. A bottle can contain either liquid P or liquid Q. What can be maximum capacity of one such bottle?

Options :
1. #® 12
2. % 60
3. % 30
4.9 120

Question Number : 81 Question Id : 5406267522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Sl BRI H HHTT: 840 TIe d¥d P 3R 960 Sliex dRA Q & | 38 Bt diaal A WR a1 9T 8 | U Sidd &1 &Hdl 99 & | U diad | a1
TR P UTRA Q 8 Jbal g | T U S bt b dH &Har o g1 Tobell 82

Options :

1. % 12

2. % 60

3. % 30

4.9 120

Question Number : 82 Question Id : 5406267523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of 32 + 12+ 16 x4 + 12 x 10 - 72 + 10?
Options :

1. ¥ 2692/15

2. % 1897/18

3. % 2704/18

4. % 1924/15

Question Number : 82 Question Id : 5406267523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
32+12+16 x4+ 12 % 10—72+10$[ITI7[5R?IT%?
Options :

1. ¥ 2692/15

2. % 1897/18

3. % 2704/18

4. % 1924/15

Question Number : 83 Question Id : 5406267524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the below equation.



T L, L
g 3 & 8 3

Options :
1. ¥ 15
2. % 16
3.% 14
4. % 13

Question Number : 83 Question Id : 5406267524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feT U 9HIeR0 & IRd Bifog|

T LT L
g 3 & 2 3

Options :
1.¥ 15
2. % 16
3.% 14
4. % 13

Question Number : 84 Question Id : 5406267525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the equation given below:



(0.42)" +(0.36)" + (0.25)’
(0.042)" +(0.036)" +(0.025Y

Options :
1. ® 10
2. % 0.01
3.4 100
4. % 0.1

Question Number : 84 Question Id : 5406267525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu 7T gHiehRur ) TR DT

(0.42)" +(0.36)" + (0.25)’
(0.042)" +(0.036)" +(0.025Y

Options :
1. % 10
2. % 0.01
3.4 100
4. % 0.1

Question Number : 85 Question Id : 5406267526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the least number which when divided by 35 leaves 13 as the remainder, when divided by 70 leaves 48 as remainder and when divided by
175 leaves 153 as remainder?

Options :
1. % 378



2. % 360
3. % 350
4.+ 328

Question Number : 85 Question Id : 5406267526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 AT T T § O 35 fauTiora fpd oM IR AWt d 13 3T 8, 70 | TAHTRd ford ST R Qwthet 48 M7 8 T 175 ¥ fauifora
ford ST TR ATHT 153 AT §?

Options :
1. % 378
2. % 360
3. % 350
4. ¥ 328

Question Number : 86 Question Id : 5406267527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of 12 numbers is 10. If every number is doubled, then what will be the new average of the numbers?
Options :

1. ¥ 20

2. % 21

3. % 22

4. % 24

Question Number : 86 Question Id : 5406267527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 RT3 BT NI 10 B 1 Al TAD T &1 T[T 81 ST, T TRSATSH BT 7T S o1 I
Options :

1. ¥ 20

2. % 21



3. % 22
4. % 24

Question Number : 87 Question Id : 5406267528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader allowed a discount of 20 percent on a trolley bag having list price of Rs. 1100 and earns a profit of 10 percent. What is the cost price of
the trolley bag?

Options :
1. * 850
2.9 800
3. % 760
4. = 750

Question Number : 87 Question Id : 5406267528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qas%amﬁ‘rwﬁ?ﬂénmm&mq@1loomé,wzouﬁwﬁ§?ém%am1ouﬁma$rwum%|§ﬁﬁénaﬁrmq§q
T 82

Options :

1. % 850

2.+ 800

3. % 760

4. % 750

Question Number : 88 Question Id : 5406267529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is true?

I. If the marked price is Rs. 2400 and selling price is Rs. 2280, then the discount is 15 percent.
II. If the marked price is Rs. 3200 and selling price is Rs. 2800, then the discount is 17.5 percent.

Options :



1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 88 Question Id : 5406267529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfIfed & ¥ o9 91 5y 93 82

. 1S 3ifdrd Ted 2400 ¥ § T fashd gt 2280 IUA 7, A Fe 15 WA= B
1. I 3ifdrd T 3200 TTT & T fashd Hed 2800 I 5, Al e 17.5 WA= B

Options :

1. % FHadl

2. % Had Il

3. % [ UGl
4. FA@IATA

Question Number : 89 Question Id : 5406267530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A gets 25 percent more marks than B, then by what percentage marks of B are less than the marks of A?
Options :

1. # 25 percent

2. % 20 percent

3. % 30 percent

4. % 15 percent

Question Number : 89 Question Id : 5406267530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gie A, B 9 25 Ufa<rd 3ifieh 3ih YTt Rl 8, dl B & 3ih A & 3ieh! A fba- ufawid & g2



Options :

1. % 25 gfa=rd
2. ¢ 20 Uf=rd
3. % 30 gfa=rd
4. % 15 gfaerd

Question Number : 90 Question Id : 5406267531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of a car depreciates by 30 percent in the first year. Its price depreciates by 20 percent in the second year and by 10 percent in the third year.
If the initial price of the car was Rs. 200000, then what will be the price of the car after three years?

Options :

1. ¥ Rs. 100800
2. % Rs. 114200
3. % Rs. 104800
4. % Rs. 102600

Question Number : 90 Question Id : 5406267531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HR B! BT Ugd a¥ A 30 U= Y HH 81 ST 8| SUD! HIAd gaX a¥ & 20 U= ¥ 3R TR I8 H 10 Wia=rd & &9 g1 ol g | 3R
HR DI LI BIAT 200000 T g, Tl I T §1G BR B DHIAd 71 g2

Options :

1. ¢ 100800 &UY
2. % 114200 99
3. % 104800 Y
4. % 102600 &UY

Question Number : 91 Question Id : 5406267532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a number is successively decreased by 20 percent, 50 percent and 40 percent, then it becomes 1590. What is that number?



Options :
1. * 6425
2. ¥ 6625
3. % 6505
4. % 6650

Question Number : 91 Question Id : 5406267532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS U -1 HI hitd T H 20 UTI=Id, 50 TARIT 7T 40 UfiRTd ¥ S a1 St &, dl 98 1590 81 STl 5 | I8 -1 1M1 52
Options :

1. % 6425

2. ¥ 6625

3. % 6505

4. % 6650

Question Number : 92 Question Id : 5406267533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A’s income is 120 percent of B’s income and A’s expenditure is 150 percent of B’s expenditure. If A’s income is 200 percent of B’s expenditure,
then what is the respective ratio of A’s savings and B’s savings?

Options :
1.¥3:4
2.%3:2
3.%6:5
4, % 7:5

Question Number : 92 Question Id : 5406267533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A DT 3T B B M BT 120 U= § dUT A BT 0T B B T BT 150 AR 81 TS A BT 3T B P 0T D1 200 U, df A BT 929d dUT B
! FId BT HART: U 1 82




Options :
1.¥3:4
2.% 3:2
3.%6:5
4. % 7:5

Question Number : 93 Question Id : 5406267534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

40 percent of the cost price of an article is equal to the 10 percent of its selling price. What is the profit percentage?
Options :

1. # 200 percent

2. % 300 percent

3. % 400 percent

4. % 100 percent

Question Number : 93 Question Id : 5406267534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T & 0 T BT 40 U= ST fashg Ged & 10 UFARId & SRIR & | AT &1 Wfer=rd 31 82
Options :

1. % 200 Ufa=rd
2. ¢ 300 Ufd=Id
3. % 400 Ufa=rd
4. % 100 gfa=rd

Question Number : 94 Question Id : 5406267535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of selling price to the cost price is 3 : 4. What is the loss percentage?
Options :

1. # 30 percent



2. % 20 percent
3. % 25 percent
4. % 10 percent

Question Number : 94 Question Id : 5406267535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faehd I &1 oY Yod ¥ 3UTd 3 : 4 81 81 ufawrd g2
Options :

1. % 30 gfawrd
2. % 20 Ufard
3. ¢ 25 Ufa=id
4. % 10 gfaerd

Question Number : 95 Question Id : 5406267536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man gains 20 percent by selling a calculator for a certain price. If he sells it at double the price, then what will be the profit percentage?
Options :

1. # 40 percent

2. # 150 percent

3. % 100 percent

4. ¥ 140 percent

Question Number : 95 Question Id : 5406267536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wéﬁﬁaﬁwﬁ%mméﬁwwmﬁzommwwmél ¢ a8 I &l T HIFd IR 99dl g, dl e ufa=rd
1 R
Options :

1. % 40 Ufawrd



2. % 150 gfawrd
3. % 100 gfaerd
4.+ 140 Ufa=d

Question Number : 96 Question Id : 5406267537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sold a book at a loss of 40 percent. Had he sold the book for Rs. 140 more, then he would have lost 20 percent. To gain 20 percent,
what should be the selling price of the book?

Options :

1. # Rs. 800
2. ¥ Rs. 840
3. % Rs. 750
4, ¥ Rs. 880

Question Number : 96 Question Id : 5406267537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS GHIMER UH THD Pl 40 YA B 1 TR S0 8| afe I T Bl 140 U 3Hferes & o1 SIaT, Ot I 20 f=rd 1 g1 gieft| 20
Uf=Id &1 Y HHM & [T, & $T fashd Ged 1 812

Options :

1. % 800 34U
2. ¢ 840 ¥TY
3. % 750 ¥0Y
4. % 880 YUY

Question Number : 97 Question Id : 5406267538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If2X =3Y =6Z, then whatis X : Y : Z?
Options :

1.%¥4:2:1



2.% 6:8:5
3.¢3:2:1
4, % 1:2:3

Question Number : 97 Question Id : 5406267538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G 2X=3Y=628, AX:Y: ZFTg?

Options :

1.%4:2:1
2.%6:8:5
3.93:2:1
4. % 1:2:3

Question Number : 98 Question Id : 5406267539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length, breadth and height of a cuboid are in the ratio of 3 : 5 : 2. If length is 10 cm more than height, then what is the volume of this cuboid?
Options :

1. % 20000 cm?

2. % 40000 cm’

3. ¥ 30000 cm®

4. % 50000 cm3

Question Number : 98 Question Id : 5406267539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TATH B! TS, ASTS dUT $HaTs BT U 3 : 5: 2 51 TS T, SHars 9 10 9.1, 31fde 7, a1 g1y o1 31 1 82
Options :

1. ® 20000 cm?

2. % 40000 cm?




3.+ 30000 cm?
4. % 50000 cm3

Question Number : 99 Question Id : 5406267540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the current prices of two items is 32 : 43. Two years later the price of the first item increases by 25 percent and the price of the
second item increased by Rs. 450. After two years, the ratio of the price of two items becomes 20 : 29. Find the sum of the original prices of the
two items.

Options :
1. ® 2100
2. % 2625
3. % 2400
4, ¥ 2250

Question Number : 99 Question Id : 5406267540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<1 3T P TAHTH BIHI BT SIUTT 32 - 43 B | <1 e TG TGelt 9% bl b H 25 U= B ik Biell © U GEL I b1 bIHd H 450
¥UA &1 g Bl § 1 & AN & §1G, & g3 & Yo &1 SII0Td 20 : 29 B ST § | 1 a3l & Hel Hed &1 TN J1d BifoTg |

Options :

1. % 2100

2. % 2625

3. % 2400

4. 2250

Question Number : 100 Question Id : 5406267541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person lent certain sum of money at 4 percent per annum simple interest. In 16 years the interest amounted to Rs. 1080 less than the sum lent.
What was the sum lent?

Options :



1. ® Rs. 2160
2. ¥ Rs. 3000
3. # Rs. 3240
4. * Rs. 1687.5

Question Number : 100 Question Id : 5406267541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS Ffa bt AT IR BT 4 Uf=Id ot a1 o I WIURUT 079 |R SYR Sdl g1 16 T8 § HATToId TS b1 M1 IYR & T8 A1 4
1080 3T HH g | SUR & T3 X111 &1 i

Options :
1. % 2160 30U
2. ¥ 3000 3T
3. % 3240 30
4. % 1687.539Y

Arithmetic Ability2
Group Number : 6
Group Id : 540626237
Group Maximum Duration : 0
Group Minimum Duration : 0
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Group Marks : 20
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Number of Questions : 20
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Sub-Section Id : 540626367
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5406267542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R = Rs. 7000 invested at simple interest for 8 years and per annum rate of interest is 18 percent. S = Rs. 21000 invested at simple interest for 12
years and per annum rate of interest is 30 percent. What is the ratio of interests earned in R and S?

Options :
1. % 4:45
2.9 2:15
3. % 2:45
4. % 5:55

Question Number : 101 Question Id : 5406267542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R = 7000 TUY, 8 T4 & o JreRor sar WR 9w fu e gyt ufday surel ot &R 18 UfA=d 81'S = 21000 ¥, 12 98 & fofw WreRor sar
IR o fe T a1 widay & &t &R 30 Ufa=Id 81 R 94T S § SHI T ST &1 SUTd T 62

Options :

1. % 445

2.4 2:15

3. %245

4, % 5:55




Question Number : 102 Question Id : 5406267543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum amounts to Rs. 5184 at the rate of 20 percent per annum compounded annually after three years. What is the value of the principal?
Options :

1. ¥ Rs. 3000

2. * Rs. 3200

3. ¥ Rs. 3800

4, % Rs. 3600

Question Number : 102 Question Id : 5406267543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 1 20 UFA=Id &1 a1ffes X & 3 o a1 aTffes YAISTd B TR 5184 ¥UY B ST § | e HT A 1 82
Options :

1. ¢ 3000 $GY

2. % 3200 39U

3. % 3800 ¥UY

4. % 3600 30

Question Number : 103 Question Id : 5406267544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The downstream speed of a boat is 14 km/hr and the upstream speed of the boat is 6 km/hr. What is the speed of the stream?
Options :

1. # 3 km/hr

2. ¥ 4 km/hr

3. % 3.5 km/hr

4. % 4.5 km/hr

Question Number : 103 Question Id : 5406267544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YRT & 3l Ueb A1d B T 14 5.4} /der 8 Tu1 4R1 & ufdiepd =1a ) 7ifd 6 b, 1) /eie1 B 1 4T Bt 71y R &2
Options :

1. % 3 fob dt /dier

2. ¢ 4 fb 4t der

3. % 3.5 b #i e

4. % 4.5 fop #t dier

Question Number : 104 Question Id : 5406267545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 500 meters long train can completely cross a 750 meters long platform in 10 seconds. A man is walking with a speed of 25 meter/sec in the
same direction of the train. If the man is 2 kms away from the train, then in how much time will train reach the man?

Options :

1. # 25 seconds
2. % 20 seconds
3. % 22.5 seconds
4. % 27.5 seconds

Question Number : 104 Question Id : 5406267545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T& 500 HIe el T ¢ 750 HIeR Ad WeWH B 10 Heobs H G a8 UR R Yabdll ¢ | T e, ATl Bl fa=m H 25 Hiew/ ¥ehs &1 7ifd
T 9 81 g | IS oafad, Yermmet ¥ 2 feaiier gr ], o YarTe! fad ad fhd-t o) & ugd SIrf?

Options :

Question Number : 105 Question Id : 5406267546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Speed of a bike is 30 percent less than the speed of a train. Both starts from point P at the same time and reach point Q 420 km away at the same
time. On the way the train takes 120 minutes for stopping at the stations. What is the speed of the bike?

Options :

1. ¥ 63 km/hr
2. % 54 km/hr
3. # 45 km/hr
4. % 72 km/hr

Question Number : 105 Question Id : 5406267546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T S5 B 71T Teb YeRTTS! I TIfd & 30 UIH=Td HH g | G| fofg P A Ueb 81 JHA UR URH d g aul 420 fp. . R R g QR uab 1
TG Ugdd ¢ | AT H XerTet WRHE IR FhA & o 120 fie ol 81 S8 & 1fa e g2

Options :

1. v 63 foo 4t /dieT
2. % 54 dlder
3. % 45 f il /der
4. % 72 oo ot e

Question Number : 106 Question Id : 5406267547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q and R together can complete a work in 20 days. P and Q together can complete the same work in 25 days. R alone can finish the same work
in how many days?

Options :

1. # 107 days
2. % 105 days
3. % 110 days
4. ¥ 100 days



Question Number : 106 Question Id : 5406267547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q YT R 1Y TR Ueh B B1 20 f&Al H QRT R Thl & | P AUT Q WY AR I B Bl 25 fa & T o Thdl § 1 R bl 39 B
&1 fpam o= H T R gopar 82

Options :

1. % 107feA

2. % 105 e

3. % 110feT

4.+ 100 fea

Question Number : 107 Question Id : 5406267548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raman alone can complete a work in 12 days and Pradeep alone can complete the same work in half of the time taken by Raman. In how many
days will both together complete 3/4 part of the total work?

Options :

1. # 4 days
2. ¥ 3 days
3. % 6 days
4. % 5 days

Question Number : 107 Question Id : 5406267548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T b Th B BT 12 fel B I B AHhlT § T U bl S B BI I GRT [TE T T0T & 1Y THT H I AHhl g1 Gl
AAHR B BT 3/4 YT foha= el H T w42

Options :
1. % 4faq
2. ¢ 3¢
3. % ¢ feA
4. % s5feq




Question Number : 108 Question Id : 5406267549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S1, S2 and S3 together can complete a work in 15 days less than S1, 7.5 days less than S2 and 2.5 days less than S3. S1, S2 and S3 together take
7.5 days to complete the work. In how many days S1 and S2 together can complete the same work?

Options :

1. # 11 days
2. ¥ 9 days
3. % 12 days
4. % 13 days

Question Number : 108 Question Id : 5406267549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S1,S2 AU S3 U AR TE pR DI S1 T 15T HAH, 275 RTFA A qUS3 V2.5 T HFAF BRI IHA S S1, S2 qUT S3 1Y
AR 1 & W HxA & 1w 7.5 AT Ad €1 S1 U7 S2 A1 Fraess 3 & &t foba o § 1 ax Il 62

Options :

1. % 11feq
2. ¢ 9feT
3. % 12feq
4. % 13f&9

Question Number : 109 Question Id : 5406267550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If diagonals of a rhombus are 18 cm and 24 cm, then what is the perimeter of the rhombus?
Options :

1. % 45 cm

2. % 30cm

3. % 90 cm

4. ¥ 60 cm



Question Number : 109 Question Id : 5406267550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g foref Taqys & fasof 18 T, aur 24 V.11, B, O THeqUS o1 ufkdmg = g2
Options :

1. % 4599

2. % 30 A,

3. % 909

4.+ 60 A,

Question Number : 110 Question Id : 5406267551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid copper sphere of diameter 90 metre is converted into a solid cylinder of length 120 metre. What is the radius of the cylinder?
Options :

1. % 36 metre

2. % 49 metre

3. % 353 metre

4. ¥ 452 metre

Question Number : 110 Question Id : 5406267551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

90 HieX S aTd! U did & 319 T &l T 120 Hiex daTs arat so | uikafedd foran srm| 9a= ot B o g2
Options :

1. % 36 HIR

2. % 49 AR

3. % 353 iR

4. ¢ 4572 HIeR




Question Number : 111 Question Id : 5406267552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Side of a solid cube is 21 cm. What is the volume of the largest sphere that can cut from this cube?
Options :

1. % 3657 cm®

2. ¥ 4851 cm?

3. % 4153 cm?

4. % 2998 cm?

Question Number : 111 Question Id : 5406267552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS o I B U Yol 21 A, 51 ST I H F HIC Ol Yh+ a1l Tod 9 TIIel BT AT H1 82
Options :

1. % 3657 9.HI3
2. ¥ 4851 QA3
3. % 41539013
4. % 2998 JHI 3

Question Number : 112 Question Id : 5406267553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The radius of a cone is 7 cm. Its height is 24 cm. Which of the following statement is true about this cone?

1. 1/6 of the volume of cone is 208.33 cm?.
11 1/5 of the curved surface are is 110 cm?2.
Options :

1. % Only I

2. % Only II

3. % BothIandII

4. # Neither I nor II



Question Number : 112 Question Id : 5406267553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U% P B! o1 7 4. B 1 3BT HaTs 24 . 1 39 VP & oo # Fafafed # 3 oH 91 Hu= 951 2

1. Y% & T BT 1/6, 208.33 .13 Bl
I1. 96 U¥TT 8% &1 1/5, 110 9112 B

Options :

1. % PHadl

2. ¢ Had Il

3. % [T gl
4. % FrAIATA

Question Number : 113 Question Id : 5406267554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of flats in different towers of a society.

Towers | Flats
A 546
B 328
& 453
D 259
E 638

What is the sum of number of flats in towers A, D and E?
Options :
1. # 1533
2. % 1443



3. #1773
4. % 1463

Question Number : 113 Question Id : 5406267554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 € 7S arfereT U TS et & fafir raRl § el 1 A el

Tele

546
328
453
259
638

MUOUJ:I}%

CTaRI A, D 3R E B Tic] &1 T BT IRT T 52
Options :
1. % 1533
2.9 1443
3. % 1773
4. % 1463

Question Number : 114 Question Id : 5406267555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of boys and girls in three schools A, B and C.



Schools | Boys | Girls
A 48 36
B 52 60
® 64 48

N1 = Sum of number of boys in B and number of girls in C.
N2 = Sum of number of girls in A and number of boys in B.

What is the ratio of N1 and N2?
Options :

1. % 25:23

2.% 5:11

3. 25:22

4. % 15:11

Question Number : 114 Question Id : 5406267555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

13 € TS afereeT A el A, B IR C B TSt IR Tefbal @ weT @ i )

Thel | oI=ch | dShar

A
A 48 36
B 3l 60
& 64 48

N1=BH dSH! B! TBAT YT C H AS[hdl P TBHAT BT I
N2 = A ¥ T3fhdl &1 T duT B H dS®! &1 4T &1 I |

N1 TT N2 & SJUTd &1 82



Options :

1. ® 25:23
2.% 5:11
3.¥25:22
4. % 15:11

Question Number : 115 Question Id : 5406267556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of bats manufactured by 6 different brands A, B, C, D, E and F. The number of bats are shown as
the percentage of total number of bats manufactured by these 6 brands.

If the total number of bats of these 6 brands is 64800, then what is the total number of bats of A, C and F?
Options :

1. ¥ 27864

2. % 26432

3. % 27234

4. % 26834



Question Number : 115 Question Id : 5406267556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fear mar urg = 6 At §ist A, B, ¢, D, E iR F gR1 (Aftfd Socil 3t T & S2idT & | Iocl ol &1 bl 39 6 siiel gRT HfHd gl
1 S I & YA & =0 § eI T8

e S 6 TS & dcall B! S BT 64800 8, A A, C TUTF & Seall B S AT e 82
Options :

1. ¢ 27864

2. % 26432

3. % 27234

4. % 26834

Question Number : 116 Question Id : 5406267557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of doctors in 6 different medical colleges M1, M2, M3, M4, M5 and M6 of a city. The number of
doctors are shown as percentage of the total number of doctors in these 6 medical colleges.



The number of doctors in medical college M4 is 1260.
A = Difference between number of doctors in M1 and M2.
B = Difference between number of doctors in M5 and M3.

What is the value of A x B?
Options :

1. * 274400

2. % 293500

3. ¥ 283500

4. = 277500

Question Number : 116 Question Id : 5406267557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= foam mar urs A1 U TR & 6 T AfSHd Blasil M1, M2, M3, M4, M5 4T M6 H STdex] &1 TBAT o1 S2idl g | SiaeR] &1 T Pl
2 6 AfSHd Bicoll | SlaeR! &1 Hdl W & U= & &9 H G- T g




o\

Nfehd Hlael M4 T Slde] ] T=AT 1260 B
A =M1 TUT M2 H Siaex] & T & T BT 3R |
B = M5 dUT M3 H Slaex] &1 AT &b 7 BT aR |

A x B BT A 187
Options :

1. # 274400

2. % 293500

3. % 283500

4, % 277500

Question Number : 117 Question Id : 5406267558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of mobiles sold by a shop in 6 consecutive months.



1775

Number of Mobiles Sold

M1 M2 M3 M4 M5 M6E
Months

Which month shows the highest increase in the number of mobiles sold over the previous month?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.Y6

2.Y4

3.Y2

4.Y3

Question Number : 117 Question Id : 5406267558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fear mar ¥ i 6 HANT 7§ U ghH gR1 99 U AIeTSal &1 9= &1 a=hidl o |




1775

S 710 HiGGadl & S

M1 M2 M3 M4 M5 M6

TeH

fore Ten & fUsd 7 & da O fawa ara Aarsal & I & Jav Sifi® 3fS 83 62
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.Y6

2.Y4

3.Y2

4.Y3

Question Number : 118 Question Id : 5406267559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar chart given below shows the number of people going to pilgrim in 5 consecutive years.



102500 110000

95000

87500

75000

Number of People Going to Pilgrim

Y1 Y2 X Y4 Y5
Years

What is the ratio of number of people going to pilgrim in Y1 and Y3 to the number of people going to pilgrim in Y2, Y4 and Y5?
Options :

1. # 34:15

2.%17:30

3. % 17:15

4. % 11:30

Question Number : 118 Question Id : 5406267559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fear mar <us e 5 HanTd aut & ddasr iR S ard @R S &l gRiiar gl



102500 110000

95000

87500

75000

ciefamsn W o= aret o &t dem

Yl ¥2 ¥3 ¥4 Y5
ay

Y1 TUT Y3 H A R S ara @l & IR BT Y2, Y4 99T 'S H A 0R o arel @l ot e § T SUTd /2
Options :

1. % 34:15

2.% 17:30

3.%17:15

4.% 11:30

Question Number : 119 Question Id : 5406267560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar chart given below shows the number of taps of 6 different types sold by a shop.



325
300

— 275
250 — 250
S 225

Number of taps sold

Pl T2 T3 T4 T& T6
Different Types of taps

Which of the following statement is correct?

I. Total number of taps of T4 and TS5 are 135 less than the total number of taps of T2 and T3.
II. Number of taps of T1 are 11.11 percent more than the number of taps of T5.

III. Total number of taps of T3, TS5 and T6 are 800.

Options :

1. % Tand III

2. % Il and III
3. % Tand Il

4. % 1,1l and III

Question Number : 119 Question Id : 5406267560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 fean a1 <Us o T g R 9 U 6 il UHR & dl &1 I &) G g |




325
300
— 275
250 — 250
—_ 225

a9 T Fdl & T&]

TI T2 T3 T4 TS5 T6
AE TR & 7d

fafeiad 7 @ o 91wy I8t 82

1. T4 YT T5 & Tl & TBAT, T2 IUT T3 & il b T Y 135 HH g
11 T1 & =Tl o1 T-AT T5 b d bl T=AT 11.11 Ufa<rd 5 8
1L T3, T5 TUT T6 & Tal o T-AT 800 B |

Options :

1. % [ qUTIII

2. 1 AYT I

3. % 19U

4. % [ 11 dYT I

Question Number : 120 Question Id : 5406267561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of chemist shops in 6 different villages.



Number of chemist shops

Vi V2 V3 V4 V5 Vo
Villages

Which of the following statement is correct?

I. Least number of chemist shops are in V3.

II. Chemist shops in V3 are 11.11 percent less than the chemist shops in V4.
III. Total number of chemist shops in V4, V5 and V6 are 495.

Options :

1. ®* Iand II

2. % Only III

3. % Only II
4.+ 1, 1l and III

Question Number : 120 Question Id : 5406267561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 11

2. % Had I

3. % had Il

4. ¢ 111 dYT 1T
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Question Number : 121 Question Id : 5406267562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Either John and David is having the keys of my car.
Options :

1. ¥ Either John and David

2. # is having the

3. % keys of my car.

4. % No error

Question Number : 121 Question Id : 5406267562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Either John and David is having the keys of my car.
Options :

1. ¥ Either John and David

2. % is having the

3. # keys of my car.

4. % No error

Question Number : 122 Question Id : 5406267563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

My teacher asked me to work hardly to score good marks in exams.
Options :

1. % My teacher asked me

2. ¥ to work hardly to score

3. % good marks in exams.

4. % No error

Question Number : 122 Question Id : 5406267563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

My teacher asked me to work hardly to score good marks in exams.
Options :

1. ¥ My teacher asked me

2. ¥ to work hardly to score

3. # good marks in exams.

4. % No error



Question Number : 123 Question Id : 5406267564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Despite being a rainy day, she went to give the exam.
Options :

1. ¥ Despite being a

2. # rainy day, she went

3. % to give the exam.

4. % No error

Question Number : 123 Question Id : 5406267564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Despite being a rainy day, she went to give the exam.
Options :

1. ¥ Despite being a

2. * rainy day, she went

3. # to give the exam.

4. % No error

Question Number : 124 Question Id : 5406267565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Dung beetles disperse the seeds that promote revegetation and spreads nutrients in the soil.
Options :
1. * Dung beetles disperse the seeds



2. % that promote revegetation and
3. % spreads nutrients in the soil.

4. % No error

Question Number : 124 Question Id : 5406267565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Dung beetles disperse the seeds that promote revegetation and spreads nutrients in the soil.
Options :

1. #* Dung beetles disperse the seeds

2. % that promote revegetation and

3. ¥ gpreads nutrients in the soil.

4. % No error

Question Number : 125 Question Id : 5406267566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Forests damaged by fire and drought will recover much slower.
Options :

1. % Forests damaged by fire

2. % and drought will recover

3. # much slower.

4. ¥ No error

Question Number : 125 Question Id : 5406267566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Forests damaged by fire and drought will recover much slower.
Options :

1. # Forests damaged by fire

2. # and drought will recover

3. # much slower.

4. ¥ No error

Question Number : 126 Question Id : 5406267567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

We need to (immediately ensured) universal rationing for the vulnerable population.
Options :

1. ¥ immediately ensure

2. % immediate ensure

3. % ensures immediately

4. ¥ No improvement

Question Number : 126 Question Id : 5406267567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

We need to (immediately ensured) universal rationing for the vulnerable population.
Options :

1. ¥ immediately ensure

2. % immediate ensure

3. # ensures immediately

4. % No improvement

Question Number : 127 Question Id : 5406267568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

The burden of the expenses (is bear) disproportionately by my father.
Options :

1. # are born

2. ¥ was borne

3. % is bore

4. # No improvement

Question Number : 127 Question Id : 5406267568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

The burden of the expenses (is bear) disproportionately by my father.
Options :

1. #* are born

2. % was borne

3. # is bore

4. ¥ No improvement

Question Number : 128 Question Id : 5406267569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

This country holds the record for the (largest number) of unemployed persons in the world.
Options :

1. # larger number

2. % large number

3. # the larger count

4. ¥ No improvement



Question Number : 128 Question Id : 5406267569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

This country holds the record for the (largest number) of unemployed persons in the world.
Options :

1. # larger number

2. # large number

3. % the larger count

4. ¥ No improvement

Question Number : 129 Question Id : 5406267570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

You may all go to your respective homerooms where your teachers (will be waiting) for you.
Options :

1. * would be waiting

2. * will has been waiting

3. % will waited

4. ¥ No improvement

Question Number : 129 Question Id : 5406267570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

You may all go to your respective homerooms where your teachers (will be waiting) for you.
Options :

1. ¥ would be waiting



2. % will has been waiting
3. # will waited

4. ¥ No improvement

Question Number : 130 Question Id : 5406267571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

We need to ensure that all people (have accessed) to adequate medicines in the midst of health crisis.
Options :

1. ¥ have access

2. % should had access

3. * have had access

4. % No improvement

Question Number : 130 Question Id : 5406267571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement, choose ‘No improvement’.

We need to ensure that all people (have accessed) to adequate medicines in the midst of health crisis.
Options :

1. ¥ have access

2. % should had access

3. ® have had access

4. ¥ No improvement

Question Number : 131 Question Id : 5406267572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



Neither Ram nor Priya  available tomorrow.
Options :

1. % is

2. % are

3. * were

4. * was

Question Number : 131 Question Id : 5406267572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Neither Ram nor Priya  available tomorrow.
Options :

1. ¥ is

2. * are

3. # were

4. * was

Question Number : 132 Question Id : 5406267573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

One of the animals in the zoo  escaped.
Options :

1. # did

2. ¥ has

3. * have

4. % could

Question Number : 132 Question Id : 5406267573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

One of the animals in the zoo  escaped.
Options :

1. % did

2. ¥ has

3. # have

4. % could

Question Number : 133 Question Id : 5406267574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Climate integrates many factors, and so fire.
Options :

1. % did

2. % do

3. ¥ does

4. % as

Question Number : 133 Question Id : 5406267574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Climate integrates many factors, and so fire.
Options :

1. # did

2. % do

3. ¥ does

4. % a5



Question Number : 134 Question Id : 5406267575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The government is taking all the steps to curb water pollution.
Options :

1. * benign

2. % polite

3. ¥ necessary

4. * fragile

Question Number : 134 Question Id : 5406267575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The government is taking all the steps to curb water pollution.
Options :

1. * benign

2. % polite

3. ¥ necessary

4. # fragile

Question Number : 135 Question Id : 5406267576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Some viruses have an outer wrapping, which is an envelope.
Options :

1. # roared



2. % exclaimed
3. #* formed

4., % called

Question Number : 135 Question Id : 5406267576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Some viruses have an outer wrapping, which is an envelope.

Options :

1. # roared

2. % exclaimed
3. # formed

4. % called

Question Number : 136 Question Id : 5406267577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

The Anglo-Saxons, who

P. a Germanic Language,

Q. conquered Britain at the end
R. of the Roman Empire, spoke
S. which later became English

Options :

1. # PQRS
2. % QRPS
3. % QPRS
4. % SQRP

Question Number : 136 Question Id : 5406267577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

The Anglo-Saxons, who

P. a Germanic Language,

Q. conquered Britain at the end
R. of the Roman Empire, spoke
S. which later became English

Options :

1. # PQRS
2. ¥ QRPS
3. % QPRS
4. % SQRP

Question Number : 137 Question Id : 5406267578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

English also contains

P. French-derived words after

Q. following the Norman conquest
R. it was ruled by

S. French-speaking kings

Options :

1. % RQPS

2. % PSRQ

3. ¥ PRSQ

4. % SQPR

Question Number : 137 Question Id : 5406267578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.



English also contains

P. French-derived words after

Q. following the Norman conquest
R. it was ruled by

S. French-speaking kings

Options :

1. % RQPS

2. % PSRQ

3. ¥ PRSQ

4. % SQPR

Question Number : 138 Question Id : 5406267579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. their resulting creation was a variation on the Russian tradition of exchanging decorated Easter eggs
Q. he worked in close collaboration with Peter Carl Fabergé to create the master-piece

R. fabergé was a jeweler known for his fine craftsmanship and creativity

S. in 1885 Alexander III first commissioned a bejeweled egg as a present for his wife

Options :

1. # SPQR
2. % QSPR
3. ¥ QPSR
4. ¥ SQRP

Question Number : 138 Question Id : 5406267579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. their resulting creation was a variation on the Russian tradition of exchanging decorated Easter eggs
Q. he worked in close collaboration with Peter Carl Fabergé to create the master-piece



R. fabergé was a jeweler known for his fine craftsmanship and creativity
S. in 1885 Alexander III first commissioned a bejeweled egg as a present for his wife

Options :

1. ¥ SPQR
2. % QSPR
3. ¥ QPSR
4. ¥ SQRP

Question Number : 139 Question Id : 5406267580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Abridge
Options :

1. # Extend
2. % Extent
3. % Shorten
4. % Stress

Question Number : 139 Question Id : 5406267580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Abridge
Options :

1. ¥ Extend
2. % Extent
3. ¥ Shorten
4, % Stress

Question Number : 140 Question Id : 5406267581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Recalcitrant
Options :

1. # Reluctant
2. % Unruly
3. # Release
4. #® Subdue

Question Number : 140 Question Id : 5406267581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Recalcitrant
Options :
1. # Reluctant
2. % Unruly
3. # Release
4. # Subdue

General English2
Group Number : 8
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Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

English Language & Comprehension2

Section Id : 540626318
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626369
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5406267582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Turbulence
Options :

1. * Pester

2. * Budge

3. % Commotion

4. # Treachery

Question Number : 141 Question Id : 5406267582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.



Turbulence
Options :

1. # Pester

2. # Budge

3. % Commotion

4. ® Treachery

Question Number : 142 Question Id : 5406267583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Puritanical
Options :

1. ¥ Liberated
2. # Suspicious
3. # Prudish

4. % Victorian

Question Number : 142 Question Id : 5406267583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Puritanical
Options :

1. ¥ Liberated
2. # Suspicious
3. % Prudish

4. % Victorian

Question Number : 143 Question Id : 5406267584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Infantile
Options :

1. ¥ Mature

2. # Perpetual
3. % Periphery
4. # Adolescent

Question Number : 143 Question Id : 5406267584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Infantile
Options :

1. ¥ Mature

2. % Perpetual
3. # Periphery
4. # Adolescent

Question Number : 144 Question Id : 5406267585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Wanton

Options :

1. # Holster

2. ¥ Wholesome
3. % Wholesale
4. % Whole



Question Number : 144 Question Id : 5406267585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Wanton

Options :

1. # Holster

2. ¥ Wholesome
3. % Wholesale
4. % Whole

Question Number : 145 Question Id : 5406267586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Vocabullary

2. % Vocabulary

3. % Voccabulary

4. ¥ Vocabulory

Question Number : 145 Question Id : 5406267586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Vocabullary

2. ¥ Vocabulary

3. # Voccabulary

4. #® Vocabulory



Question Number : 146 Question Id : 5406267587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ® Micsible

2. % Misciblle

3. # Micsiblle

4. ¥ Miscible

Question Number : 146 Question Id : 5406267587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Micsible

2. % Misciblle

3. ¥ Micsiblle

4. ¥ Miscible

Question Number : 147 Question Id : 5406267588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Notoriety

2. # Notoreity

3. % Notoreety

4. ¥ Nottoreity

Question Number : 147 Question Id : 5406267588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Notoriety

2. # Notoreity

3. % Notoreety

4. ¥ Nottoreity

Question Number : 148 Question Id : 5406267589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Stallwart

2. # Sttalwart

3. ¥ Stalwart

4, % Stalwaert

Question Number : 148 Question Id : 5406267589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Stallwart

2. # Sttalwart

3. % Stalwart

4. * Stalwaert

Question Number : 149 Question Id : 5406267590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To make hay while the sun shines

Options :

1. # To be treated as a personage of great importance
2. # To start a profitable venture

3. % To turn opportunity to the best advantage

4. # To be happy while the good times last

Question Number : 149 Question Id : 5406267590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To make hay while the sun shines

Options :

1. # To be treated as a personage of great importance
2. % To start a profitable venture

3. % To turn opportunity to the best advantage

4. # To be happy while the good times last

Question Number : 150 Question Id : 5406267591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To end in smoke

Options :

1. ® To ruin oneself

2. % To pacify an altercation
3. # To set something on fire

4. ¥ To come to nothing



Question Number : 150 Question Id : 5406267591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To end in smoke

Options :

1. # To ruin oneself

2. # To pacify an altercation
3. # To set something on fire

4. ¥ To come to nothing

Question Number : 151 Question Id : 5406267592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To give currency

Options :

1. ¥ To make something credible

2. % To bribe your way out of something
3. # To squander one’s time and energy

4. % To lure someone

Question Number : 151 Question Id : 5406267592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To give currency
Options :
1. ¥ To make something credible

2. % To bribe your way out of something



3. #* To squander one’s time and energy

4. % To lure someone

Question Number : 152 Question Id : 5406267593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A place where monks live as a secluded community
Options :

1. # Abbot

2. ¥ Monastery

3. ¥ Priest

4. % Synagogue

Question Number : 152 Question Id : 5406267593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A place where monks live as a secluded community
Options :

1. % Abbot

2. ¥ Monastery

3. # Priest

4. ¥ Synagogue

Question Number : 153 Question Id : 5406267594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A pole used as a temporary support



Options :

1. # Scaffold
2. # Tent

3. ¥ Prop

4, ¥ Barge

Question Number : 153 Question Id : 5406267594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A pole used as a temporary support
Options :

1. % Scaffold

2. % Tent

3. ¥ Prop

4. % Barge

Question Number : 154 Question Id : 5406267595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A professional soldier hired to serve in a foreign army
Options :

1. # Venal

2. % Novice

3. # Apprentice

4. ¥ Mercenary

Question Number : 154 Question Id : 5406267595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that can substitute the given sentence.

A professional soldier hired to serve in a foreign army
Options :

1. % Venal

2. % Novice

3. # Apprentice

4. ¥ Mercenary

Question Number : 155 Question Id : 5406267596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A political leader appealing to popular desires and prejudices
Options :

1. ¥ Demagogue

2. % Dogmatic

3. % Patriot

4. % Politician

Question Number : 155 Question Id : 5406267596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A political leader appealing to popular desires and prejudices
Options :

1. ¥ Demagogue

2. % Dogmatic

3. # Patriot

4. # Politician

Sub-Section Number : 2



Sub-Section Id : 540626370
Question Shuffling Allowed : Yes

Question Id : 5406267597 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

Human reproductive cloning remains universally condemned, primarily for the psychological, social, and physiological risks associated with
cloning. A cloned embryo intended for implantation into a womb requires thorough molecular testing to fully determine whether an embryo is
healthy and whether the cloning process is complete. In addition, as demonstrated by 100 failed attempts to generate a cloned macaque in 2007, a
viable pregnancy is not guaranteed. Because the risks associated with reproductive cloning in humans introduce a very high likelihood of loss of
life, the process is considered unethical. There are other philosophical issues that also have been raised concerning the nature of reproduction and
human identity that reproductive cloning might violate. Concerns about eugenics, the once popular notion that the human species could be
improved through the selection of individuals possessing desired traits, also have surfaced, since cloning could be used to breed “better” humans,
thus violating principles of human dignity, freedom, and equality.

There are laws and international conventions that attempt to uphold certain ethical principles and regulations concerning cloning. In 2005 the
United Nations passed a nonbinding Declaration on Human Cloning that calls upon member states “to adopt all measures necessary to prohibit
all forms of human cloning in as much as they are incompatible with human dignity and the protection of human life.” This does provide leeway
for member countries to pursue cloning. The United Kingdom, through its Human Fertilization and Embryology Authority, issues licenses for
creating human embryonic stem cells through nuclear transfer. These licenses ensure that human embryos are cloned for legitimate therapeutic
and research purposes aimed at obtaining scientific knowledge about disease and human development. The United States federal government has
not passed any laws regarding human cloning due to disagreement within the legislative branch about whether to ban all cloning or to ban only
reproductive cloning.

Sub questions

Question Number : 156 Question Id : 5406267598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The title of the passage can be perfectly represented by:
Options :

1. # The dilemma of designer babies

2. # Designer babies

3. ¢ Ethical controversies around cloning

4. ¥ What is cloning?



Question Number : 157 Question Id : 5406267599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, what is "Eugenics"?

Options :

1. # To only breed cattle that possess desirable qualities and exterminate others
2. % A version of cloning which was practised in 18th Europe

3. % A process where horses are bred for their running capabilities

4. ¥ A notion that held that the human species could be improved by selecting individuals possessing desired traits

Question Number : 158 Question Id : 5406267600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which word means the same as ‘Incompatible’?
Options :

1. ¥ Discrepant

2. % Divine

3. # Disused

4. % Diseased

Question Number : 159 Question Id : 5406267601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. # The United States federal government has not passed any laws regarding human cloning.
2. % In 2006 the United Nations passed a nonbinding Declaration on Human Cloning.

3. % The United Nations has banned only reproductive cloning.

4. % A viable pregnancy is not guaranteed in cloning.

Question Number : 160 Question Id : 5406267602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the role of Human Fertilization and Embryology Authority?

Options :

1. % It is an UN arm that regulates therapeutic and reproductive cloning in United states
2. # Tt issues licences to Common-Wealth nations to create human stem cells

3. # Tt monitors the nations that practice cloning on large scale

4. ¥ Tt issues licenses for creating human embryonic stem cells in United Kingdom

Question Id : 5406267597 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

Human reproductive cloning remains universally condemned, primarily for the psychological, social, and physiological risks associated with
cloning. A cloned embryo intended for implantation into a womb requires thorough molecular testing to fully determine whether an embryo is
healthy and whether the cloning process is complete. In addition, as demonstrated by 100 failed attempts to generate a cloned macaque in 2007, a
viable pregnancy is not guaranteed. Because the risks associated with reproductive cloning in humans introduce a very high likelihood of loss of
life, the process is considered unethical. There are other philosophical issues that also have been raised concerning the nature of reproduction and
human identity that reproductive cloning might violate. Concerns about eugenics, the once popular notion that the human species could be
improved through the selection of individuals possessing desired traits, also have surfaced, since cloning could be used to breed “better” humans,
thus violating principles of human dignity, freedom, and equality.

There are laws and international conventions that attempt to uphold certain ethical principles and regulations concerning cloning. In 2005 the
United Nations passed a nonbinding Declaration on Human Cloning that calls upon member states “to adopt all measures necessary to prohibit
all forms of human cloning in as much as they are incompatible with human dignity and the protection of human life.” This does provide leeway
for member countries to pursue cloning. The United Kingdom, through its Human Fertilization and Embryology Authority, issues licenses for
creating human embryonic stem cells through nuclear transfer. These licenses ensure that human embryos are cloned for legitimate therapeutic
and research purposes aimed at obtaining scientific knowledge about disease and human development. The United States federal government has
not passed any laws regarding human cloning due to disagreement within the legislative branch about whether to ban all cloning or to ban only
reproductive cloning.

Sub questions

Question Number : 156 Question Id : 5406267598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The title of the passage can be perfectly represented by:
Options :

1. # The dilemma of designer babies



2. # Designer babies
3. ¥ Ethical controversies around cloning
4. # What is cloning?

Question Number : 157 Question Id : 5406267599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, what is "Eugenics"?

Options :

1. # To only breed cattle that possess desirable qualities and exterminate others
2. # A version of cloning which was practised in 18th Europe

3. # A process where horses are bred for their running capabilities

4. ¥ A notion that held that the human species could be improved by selecting individuals possessing desired traits

Question Number : 158 Question Id : 5406267600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which word means the same as ‘Incompatible’?
Options :

1. ¥ Discrepant

2. % Divine

3. # Disused

4. # Diseased

Question Number : 159 Question Id : 5406267601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. # The United States federal government has not passed any laws regarding human cloning.
2. ¥ In 2006 the United Nations passed a nonbinding Declaration on Human Cloning.

3. # The United Nations has banned only reproductive cloning.

4. # A viable pregnancy is not guaranteed in cloning.



Question Number : 160 Question Id : 5406267602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the role of Human Fertilization and Embryology Authority?

Options :

1. % It is an UN arm that regulates therapeutic and reproductive cloning in United states
2. # Tt issues licences to Common-Wealth nations to create human stem cells

3. # Tt monitors the nations that practice cloning on large scale

4. ¥ Tt issues licenses for creating human embryonic stem cells in United Kingdom

General Hindil

Group Number : 9

Group Id : 540626240
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Hindi Language & Comprehensionl

Section Id : 540626319
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 540626371
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Question Number : 161 Question Id : 5406267603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau MU e H Iul 31d FIvE|

REGRR
Options :
1. # gt}
2. % A
3. %
4. % 34

Question Number : 161 Question Id : 5406267603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U gse B Iu J1d BT

RN
Options :
1. ®% gtX
2. % @}
3. % W
4. % 34

Question Number : 162 Question Id : 5406267604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o U Trsc] &1 I 19 HIoT|
g+ 3R

Options :

1 % TR
2. * AR
3. v AR
4. % AR

Question Number : 162 Question Id : 5406267604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U TIse| &1 TfY J1d iU
g+ R

Options :

1. % AR
2. % AR
3. ¢ AR
4. % IR

Question Number : 163 Question Id : 5406267605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 7T Req &1 IHN J1d HifT|

Options :

1. % 3fgdl Yid
2. ¥ HHYRY
3. % fgT]

4. % gg




Question Number : 163 Question Id : 5406267605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{3 1T Wsg 1 THR J1d HIfSTT|

GRIHT

Options :

1. ® 3rogdt HIg
2. ¥ HHYRY
3. % fg7

4. % gg

Question Number : 164 Question Id : 5406267606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad Trsal o ¥ HIH 91 e Afdaardd U Ta 62
Options :

|. % et

2. % TgHI

3. % Y

4. qIcd

Question Number : 164 Question Id : 5406267606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiRad real # 9 SF A1 Xeg Afdadrad T 81 87
Options :

1. % g

2. % dgHT

3. % Qg



4. ¢ diqd

Question Number : 165 Question Id : 5406267607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T T a1y & IR G BT 9G- HRob Rk RIH B1 gl Piforu|
B 3T 8l g1 H} 8] Thd |

Options :

1. % S 4l

2. ¢ 1S9, 39&
3, % 3IU, WY
4. % B, fHag

Question Number : 165 Question Id : 5406267607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 7 I & I TaW &1 98 HRP Rad RIFE B fd Hiforg|

- 2 K11 - - 2 S ST
Options :

1. % S, dl

2. ¢ O, 39d

3. % 31U, WY

4. % P, fHad

Question Number : 166 Question Id : 5406267608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou 77T faRIvUT Reg BT STHTTRIT F1d HIFT|
did



Options :
1. % gef
2. % R
3. ¢ dldan
4. % grddn

Question Number : 166 Question Id : 5406267608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7TY {IRIVUT Xeq Bt ITHIGRIT JTd HifoQ|

&
Options :
1. % el
2. % dR
3. ¢ didad
4. % drdd

Question Number : 167 Question Id : 5406267609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad arelt o § S 1 3/dhics fohar 31 IR0 82
Options :

1. ¥ T8 g |

2. % T S[dl ST B |

3. % O R WG g

4. % g o Urar g

Question Number : 167 Question Id : 5406267609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafoiRad aredl # ¥ &1 91 3/ HS fohaT BT a8 0 52
Options :

1. ¥ TSH §Hd B

2. % AR AT ST B |

3. % Of SR W&l ]

4. % g1 G Ui B

Question Number : 168 Question Id : 5406267610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feam mar v Fafifed & 9 fodg e 8, Jrd i
3

Options :

1. &R
2. % TN
3. % So§l
4. % A

Question Number : 168 Question Id : 5406267610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o v Frafifd & 9 feg e 7 2, Jd i
]

Options :

1. ¢ et
2. % A
3. % Saet
4. % B



Question Number : 169 Question Id : 5406267611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafad o @ I a1 feu U wrse o1 yafard 76t 82

Y
Options :
1. % qad
2. % dY
3. % g
4. ¥ Hq

Question Number : 169 Question Id : 5406267611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o 9 oH w1 fau TU Wse &1 vafgard 781 87

-
Options :
1. % glad
2. % dY
3. % adg
4. ¥ Aq

Question Number : 170 Question Id : 5406267612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T Wsg T AW Wec I BT

3HdY
Options :
1. ¥ JaR



2. % R
3. % ddR}
4, % Gd}

Question Number : 170 Question Id : 5406267612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 77U Wrec; &1 faeliv Wsg T BIFTT

HdR

Options :
1. ¥ Jdv
2. % R}
3. % qdR
4, % QA

Question Number : 171 Question Id : 5406267613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU U ITRITT o ol I XMsq b1 T HIfTT|

! gd T &1 SR A 8l
Options :

1. % QTTrRrd

2. % JUARIG

3. % JYd

4. ¢ YR

Question Number : 171 Question Id : 5406267613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7Y areRItRr & T SYg e Xeq &1 9gH Hiforg|



Question Number : 172 Question Id : 5406267614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T wreg Tt &1 a3 F1d BT
fafera-fowga

Options :

1. % oIl g3{T-dichd
2. ¢ Ffdbd-Ycll g3
3. % QAT

4. % gHg-Sod

Question Number : 172 Question Id : 5406267614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferq 11T <req gl T HET 31 F1d BT
fafeyd-fawyd

Options :

1. % el gofl-dfcbd
2. ¢ Tl d- el gl
3. % QAT

4. % gUg-Sod



Question Number : 173 Question Id : 5406267615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied 2rsal § ¥ Y IeH! &1 99 HIfoT|
Options :

1. ¢ 3HUAR

2. % YR

3. % 3UfR

4, % IFNIFR

Question Number : 173 Question Id : 5406267615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafiad Trsal § ¥ Y Iai-! &1 99 DITT|
Options :

1. ¢ SHURR

2. % 3R

3. % AR

4. % 3FNIFR

Question Number : 174 Question Id : 5406267616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiRad wee gl ¥ @ 1 91 Yo g T AT 82
Options :

1. % Ao

2. % WS-8

3. % JHHI-SIHT

4. % ASUHN

Question Number : 174 Question Id : 5406267616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiRad <req gl # § oI |1 Woa H Ford 7 &7
Options :

1. % Ao

2. % YE-9e

3. ¢ IS

4, % ATt

Question Number : 175 Question Id : 5406267617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tq are | e =i B fd S|
o CREIEERIRICIT

Options :

1. % & 9T

2. % DI Wl
3. & IWid
4, % HFJFWR

Question Number : 175 Question Id : 5406267617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T areg ¥ o ®F &1 gfd S|
o= dg I gar |

Options :

1. % I

2. % P WIIR
3. ¢ & IWid
4. % HHW



Question Number : 176 Question Id : 5406267618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tq are | e =i B fd S|
T &1 ARG SIfPR g

Options :

1. ¢ GdAdT
2. % fqgar
3. % fqdd
4. % IgH

Question Number : 176 Question Id : 5406267618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw Tu are 7 Rad wH o1 g S

A& oHNg SR B
Options :

1. ¢ Wdadl

2. % foqgdn

3. % fqdd

4. % g9

Question Number : 177 Question Id : 5406267619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TTq 2reg 1 WA I BT
ureff

Options :



1. % gryT

2.« TIfdR
3. % yrff
4. % yreffoft

Question Number : 177 Question Id : 5406267619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T Y8 BT Wi ;1 BTl
ureff

Options :
1. % YT
2. ¢ TR
3. % grffR
4. % yrifoR

Question Number : 178 Question Id : 5406267620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AU U eg BT Igaa Jd BT

HVIGY
Options :

1. % Holgl

2. % HolgRoIH
3. ¢ AAGR afl
4. % Hlg 0]

Question Number : 178 Question Id : 5406267620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



QU 71T Xeq DT Igda AT DIfTT|

HVGR
Options :

1. % gy
2. % TIgReH
3. TR
4. % TSGR TT0T

Question Number : 179 Question Id : 5406267621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TTU are & I TR &1 T8 FHRoh Rad RIF B g PifoTg |
I fo1g 1|

Options :
1. ® Bl
2. % R
3.9
4. %4

Question Number : 179 Question Id : 5406267621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7 g & I WA &1 999 B Nad RIHE o1 g Fifo|
I e 31|

Options :
1. % Pl
2. % R
3.¢4
4. %7



Question Number : 180 Question Id : 5406267622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad aredl O ¥ 31R[< 916 &1 T I |
Options :

1. % IRH A IC G

2. % fHde Bd W USI g

3. % XS ¥ SR

4. ¢ IS A Hd MW B

Question Number : 180 Question Id : 5406267622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad ot T ¥ 31R[g 91 &1 T DI |
Options :
1. % IRB A ICG!
2. % fHde dd WIS g
3. % XS ¥ SR
4. ¢ US T HA W B
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Question Number : 181 Question Id : 5406267623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 1T ToRT T Y e TR JTd DIfoid |

H I e FTeIR SR |

Options :

1. ¢ H Ugd I W fOhR SIeTR ST
2. % T UR & 91¢ TI9R ST

3. % T 9 UidT § bR 96 S|

4. % T 917 dieR fOR S9IR S|

Question Number : 181 Question Id : 5406267623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 1T TRT T Yo TR Tl DIfoIT |




H I Npr TR SR |

Options :

1. ¢ H Ugd I W1 b TSR ST
2. % Ty U & J1¢ ST9R S|

3. % T 919 Ui § R SI9IR SR

4. % T Iy e b TSR SIS

Question Number : 182 Question Id : 5406267624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TQ aTeRr o1 aTed JTd BT

SRR gRI TSI IaTs o1 @l ]
Options :

1. ® HgardA
2. ¥ HHATA
3. % Yrgard

4. % 3bqdrd

Question Number : 182 Question Id : 5406267624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U 9199 T I 1d HifoTg|

STSaR GRI S IATs ol a1 |
Options :

1. % ®qard
2. ¢ HHAT
3. % YIgared

4. % Jbqard




Question Number : 183 Question Id : 5406267625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeR 1 HTet J1d BT |

Mee! = @1 @/ |
Options :

1. ¢ Ydobld

2. % FAHM HIA
3. % Yfog H1d

4. % 3quf Hra

Question Number : 183 Question Id : 5406267625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 919 &1 1A J1d B

sl A @1 @R |
Options :

1. ¢ YdobTd

2. % gIHHE BT
3. % Yfog $1d

4. % 3qul Hrd

Question Number : 184 Question Id : 5406267626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeRy b1 Uef J1d BT

LIRS RN

Options :

1. % g Uy



2. ® FAddIY® &

3. ¥ QUi U
4. % RYIHD T8

Question Number : 184 Question Id : 5406267626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T 1o 1 gt ;1 BT |

NIRRT

Options :

1. % A uy
2. % FIaISIY® &

3. v Qi gg
4. % RUam™s gy

Question Number : 185 Question Id : 5406267627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 @t gy 1 BT
qH faerea el

Options :

1. ¢ 3fidep g

2. % Ffgrnde gia
3. % Hparda gia
4. % g Ja& g

Question Number : 185 Question Id : 5406267627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few e gy @t g J1d T



qw fasTera sTan |
Options :

1. ¢ 3R g

2. % Mg gha
3. % Jopdide g
4. % A JI®d g

Question Number : 186 Question Id : 5406267628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed & &9 91 370 Y I &1 3aTev0l el 87
Options :

R

2. % gH

3. dg

4. % I

Question Number : 186 Question Id : 5406267628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad & O I 1 S0 G T BT IcTeRU 78] 82
Options :

1% H

2. % gH

3. dg

4. % W0

Question Number : 187 Question Id : 5406267629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faw o greiY &1 31 F1d HifTU|
T A B

Options :

1. % B fSRTS
2. ¢ AR gl
3. % RI {AMT

4, % g Al O I

Question Number : 187 Question Id : 5406267629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu TTu arerRItRr 7 31 T BT |

MG i g

Options :

1. % DY formreH
2. ¢ AR BT
3. % QR g

4. % T A d g

Question Number : 188 Question Id : 5406267630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fawedl 6 9§, 39 fawed &1 999 o3 Sl fau 0 GgTak & 3 &1 a98 ¥ ¥ oad Rl 5|

SR T S 3P BT WG
Options :

1. % 9gd 999§ f3@rs &

2. ¢ {3l 9] 1 Hegwd 7 FHSH drell
3. % faepdl 3fwsl 9 &M

4. % Hfepd @H G




Question Number : 188 Question Id : 5406267630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl § 9, 39 fawed o1 9o 3 o f3T 7T geTer & 31 &1 Jd9§ U ¥ oJad HRal o |

SR T S 3R ] WG
Options :

1. % Sgd 9Hg 91E @S 3

2. ¢ {3t a%g o1 U8 - U drell
3. % foepd 31 9 A

4. % GRHd TH gl

Question Number : 189 Question Id : 5406267631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu w3l & IuaT foru 1 v forg &t ugaH Bifvw|

Options :

1. % HIFD
2. ¢ G
3. % R0l
4. % qrgd

Question Number : 189 Question Id : 5406267631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou wrs3l & Sua fosu 1 favmw forg &t ugaH Bifvw|

Options :



|. % DD
2. ¥ ON&
3. % faquur
4. % QAU

Question Number : 190 Question Id : 5406267632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Qg & fore I A ifad &1 999 S|

31T G aTel ¥ AT BT
Options :

1. % YTe-g1e &I U1 gl

2. % 3 Yol IqI Yl

3. % UH UY &l ol

4. ¥ TAH WA AR A R

Question Number : 190 Question Id : 5406267632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7 are & foru IR Aepifad o1 g BT
3T T AT o T AT

Options :

1. % glcdTe &1 UMl gl
2. % 3 YT Al Hell

3. % Th UY Gl BIol

4. ¢ T H /IR AR J R

Question Number : 191 Question Id : 5406267633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad uy &, f3T 70 IR gereRl # 9, 39 fadmed &1 9g &< S fou T4 areg & 31 & 949y ®U 9 oad w1 5 |

PS8 I SR A g1
Options :

1. % §cX YSbl

2. % UIOS dT-T

3. ¢ ST (AT
4. % BH FoMI

Question Number : 191 Question Id : 5406267633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy ), fou U IR Getari # 9, 39 faswed &1 7o &L S fou T8 argd & 31 &) 949 U § ogad BT ¢ |
P W IR A

Options :

1. ® SR YS!
2. % OIS §a-T
3. ¢ A b1
4. % BIb FoHI

Question Number : 192 Question Id : 5406267634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U a1 H T TR o favd fog &1 IuaiT foan S, I9et UgaH Sifvid|
Al Pl §

Options :

1. ® guf for/

2. ¢ UYH gD

3. % orgd fug

4. % 3y favH




Question Number : 192 Question Id : 5406267634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T g1 # {7 U R & favH g &1 STTNT fhdT ST, S9! Ugam difod |
Hig $5l o

Options :

1. ® guf frm

2. ¥ YHIYdD

3. % oTUq g
4. % 3cy for™

Question Number : 193 Question Id : 5406267635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad = # fou U IR fawedl & 39 faswen &1 999 o2 Sl fou T geTak & 3 &) 9a9y * 0 ¥ ad aidl |

R BT AT EIT
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 3TTR AT

2. 3T P A e

3. (TSt g

4. 33T e

Question Number : 193 Question Id : 5406267635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Yo ®M T faU U IR fawedl § 39 fdeed &1 9a= & ol faU T4 geTar & 31 &1 a9y ¥4 § oad axdl g |
SPHTRAAM___ @3l

Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.

Options :

1. 3R ST

2. 3T P A el
3. foast g

4. 33T e

Question Number : 194 Question Id : 5406267636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T arery T Ygifbd R & forg 3ferd GgTar &1 9g- Hifog|
T DA 51 Th GhgH H a-I g1 T, 37T fohr e A e fer|

Options :

1. % BT 4g 3R g a1d

2. % TR T Nl Tl MY

3. ¢ A Y IR WeR H 3fcdh
4. % DI DI qaTal | 4g Hra

Question Number : 194 Question Id : 5406267636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T gy § Xifbd N & T Iferd GgTar &1 98- S|
3 D B Th GahgH T a-T 31T T, 317l fohr ey A &R fer|

Options :

1. % BT 4g 3R g a1




2. % TR BT Hdl Al T
3. ¢ A Y TR @R # 3
4. % DI DI garall | 4g HIa

Question Number : 195 Question Id : 5406267637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feam o a1 Ty favm g &1 IeeRur g, I1d Bl

g4 Sita- & &4 8t e B |
Options :

1. % g® g

2. ¢ quf favm

3. % DY U8

4. % fqaquur fug

Question Number : 195 Question Id : 5406267637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feam T a1 g faRTe forg &1 SeeRur |, I1d S|
A4 Sfigd H &H g UY g |

Options :

1. % g5 fag

2. ¢ Ui fRm

3. % HIgD 5

4. % fqorur forg

Sub-Section Number : 2

Sub-Section Id : 540626373
Question Shuffling Allowed : Yes

Question Id : 5406267638 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (196 to 200)

T T foaT T B | i Y TS U quT e U &b I fahed g |

YR Fdf & A Sfia &I IR 31y 8 SieT Ta1 8 - SeIard M13H, TER 313, TR STYH 3R W= SMYH | Sia o TdH 25 a9
SIETART 3y & forg fad fory U & | St Srafy 1 YR F-iieal 3 fomm sremaq o fo feffed fasar 51 3t srawur 1 faemeif st off
T o1 5 | e <req & xregi & A 9 91 5| @ + orff) faen o gt aren faenff, Shae & =W =Ron &f SuRRra § o
YR AT 3R Y& gRN 8 ed Aoied 38dl g | fagme o3 &1 312 1 fharst 719 a& Sifird 981 8 1 99 9, gRar 9,
I Y IR At IR $ 1 53 a1 o Gl ¢ | T 3151 faendf a8t § S 79 7 0% §% 1 $6 Ui &1 daR 8l 8|
fRref Sfia TR e aTelt T R foba 8 | I8 Siia- &t AR SIaRAT § | I8 URId 3R ofg &1 srawity, faemef sita & foram o arer
ORYH THRM AT & BT 37Tl g | T 3MMeR| [qamdf &1 ¥da 39- Hacy ureH & SIFed 811 a1t | SR gR1 faamf 3afd &1 @A
T I UgT Al ¢ | TP (oL I IR & HEd &I ST THI Afeu|

Sub questions

Question Number : 196 Question Id : 5406267639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HId SiiaH ! ford= IR sl § a1el 82
Options :

1% R

2. % 99

3. % Hfay™

4. Y

Question Number : 197 Question Id : 5406267640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3nym o1 faen & fore Muifed forar mar g2
Options :

1. ¢ SRR 3Ty

2. % e YH

3. % U 3TYH

4. % TG 3MYH



Question Number : 198 Question Id : 5406267641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I ufshar T&a G P 1Y 3§l 82
Options :

1. % g

2. ¢ fae

3. % g9

4. % QRIGTCA!

Question Number : 199 Question Id : 5406267642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T aTe @ 1 AT © 1 BT
IR gRT faeneif 3afa &t =Ry W1 9% ugd Tl g

Options :

1. % faendf Faat S ¥ € 9w d g 8|

2. % faemdf Had SR ¥ g % d ST g |

3. % foenf o= & wRur Hifgar 9g Ut ]|

4.« Tagmdf SR & 1Y €1 30 d&T &I U R el g |

Question Number : 200 Question Id : 5406267643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S T T 2 1 72

Options :

1. ¥ 3R HTHgd

2. % SRITATS SIYH

3. % T 1 aruft

4. ¢ faendf sita=



Question Id : 5406267638 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

TS TR T 71 § | TR Y eYdd Ug Ut T U & el fadhed g |

HRTG f § A4 Sfia &1 IR Seml & SieT a1 8 - ST S8, TRy 319, YR SHH 3R =W 31 | Sfia= & Ty 25 ay
SRR 313 & forg fad forw T € 1 3t orafy ol wRdha a-iftal 3 faen sieqas & o fuffed forar 81 53t srawat &1 faemf Sfta= oft
g1 oIl 5 | faemf <req Gl <real & A 9 &1 5| e + sff| fae ot are aren faeme, Sita o [0 =RO &Y SRR § D!
YRR Holge 3R Tad 8171 a8 Fed Hoigd gl & | faemoi &3 1 31 A fb el 31 b i 61 81 T 9, TRaR 3,
T ¥ G Al W SaR $8 A1 $3 RaT off bl ¢ | T 3T faanif a8t 8 ol 79 H gUR0 $© 1 $6 Ui &l daR g1 |
e Sfia IR Ie arelt T FRaR fhar § 1 I8 Sitad o AR Sfawi1 |1 T8 URId 3R 3fHg &t fawiTy, faemf sita o fasar s arer

TR SHRI A & BT 31 § | T ey [qamif &1 Yea 3= wde UTeH # SITRed §1-1 aTfet | SR gR1 faendf Safa &t @Ry
1 9% UgT Tl g | 3P o I SRR & Hed Bl a9 gHSHT IR U

Sub questions

Question Number : 196 Question Id : 5406267639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIa SiaH ! ford= IR et § a1el 82
Options :

1% R

2. % W9

3. % HfayH

4.9y

Question Number : 197 Question Id : 5406267640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg ammem I faen o fore Muffed fora mar g2
Options :

1. ¢ SEEN 3y
2. % TR 3T



3. % YR 31HH
4, ® g YA

Question Number : 198 Question Id : 5406267641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI I ufshar geg Ad & 1Y g4t 82
Options :

1. % SamHt

2. ¢ faan

3. % g9

4, % FETat

Question Number : 199 Question Id : 5406267642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T are T F1 AR § F1d P
SR gRT faenf 3afa &t 9w Wi 9 uga aahdi g

Options :

1. % fagmdf Haa o= ¥ g 9%d sl g |

2. % foemdf Had SR U g % d gl g |

3. % faenff o= & wRur Hifgar 7 urd ]|

4.« Tagmdf SR & 1Y €1 3109 d&T &1 U R vl g |

Question Number : 200 Question Id : 5406267643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUGa TR &1 =M &1 572

Options :

1. ® 3R PIHgd

2. % FEMER 319H



3. % YT &t groft
4. ¢ Tt Sia=



